__ BFAEL BRSEL __

LONG-TERM CARE SERVICE FIRST

o e

Te iR B eeEmh B (R B R E)

LONGZE INTELLIGENT TRANSMISSION TECHNOLOGY (SHENZHEN) CO., LTD

ik RV ELX LEXRELIZSREI~IER
LERS AL  400-608-4568

BRFE : lihuimin@longze.com

ML : www. china-loz.com

R E SRR CRYIN GRS

LONGZE INTELLIGENT TRANSMISSION TECHNOLOGY (SHENZHEN) CO., LTD



H =

CATALOG

[Ty

LSF (5= EH® ) &Y

"

R

LOZ INTELLIGENT TRANSMISSIO LHF ( SBEFE ) &7

LSFZ (¥ /BEN% ) &5

LHFZ ( #&Raftn ) RS

LGYZ ( 2wt ) RS

LSNZ7I

LSRZE

Livasea

LZ-HD-1

01

05

11

17

27

33

53

63

70



TR

@) nemeeanmEnERLT

LONGZE INTELLIGENT TRANSMISSION TECHNOLOGY (SHENZHEN) CO., LTD

[ E———

F
=y,

—/A"

——

EFEEREH GRY) RIRBRATE , B—RETEREN. BRRENS—RIIBEBENREHRR. £,

HENSRKEL. ATMENEERTR. T, £FNERKEE  AEZTERHLORE  NEFBESF

REFIUER , ARCHIARTL , FTTRIT600URET MBI SHAL | TAMERAER. Tl TENHE

EMERRS.

REBEMMLAE , EPTIMROEFREES  KETERSAMHEARRR  EETSREERENK

ARNE  RETENURBFNEATE , BRENTREE. ERONE. TUSHHRSME T ULRNEZREE

BMASHEREK , RET2TDRSRENRESS.

REFE "MEAR. RSBAE. BEHL NEEERS  URETRNTRRE  DSHBZHNERNE

i, HZAFCHERSEFE LNITERN , FEREFAMNZERNNRS SANIELE  REXBHAE—UE

PRt EHERATAIIRSS .

i B L

SN, SENETIAA

to achieve success; one should let others succeed as well.

COMPANY PROFILE

LOZ intelligent transmission (Shenzhen) Technology Co. , Ltd. is a set of planet reducer, harmonic
reducer and a series of precision transmission equipment R & D, production, sales of high-tech
enterprises. The company's predecessor engaged in Gear R & D, processing, Production and assembly
of Reducer, and in this field for more than 10 years, in order to better meet customer customization
needs, the company has set up R & D Center, completed nearly 600 models of reducer specifications
R & D; Can provide customers with convenient, professional, perfect sales and after-sales service.
Since its establishment, the company has concentrated top-notch world-class equipment, joined with
many domestic materials technology research institutes, focusing on the technical frontier of
high-precision gear transmission, rooted in the field of automation equipment and robotics, with
stable product quality, accurate acceptance period, professional and efficient service to win the
trust of the industry and high-speed growth of business, to ensure the company's steady and healthy
development. The company adheres to the business philosophy of "quality as root, service as root,
honesty as first" , with stable and reliable product quality, based on advanced scientific management,
always keep in mind and follow the working principle of customer first, continuously improve and
improve our service methods and working methods, and make every effort to provide more satisfied

and timely service for every customer.

------------------------------------------------------------------------------------------------------ wu




MALFIEE RS -
CORPORATE

ENTERPRISE CULTURE
M STAE » >

@\} ™%

#E =
\oo/Y E ¥ ¢
b1 ""f ugnllmﬁ 3
'J;‘i-lt:l s ol I‘:.

CORPORATE MISSION:
A {EFE »r»
“BAED BSEL
B9 B s G sh SiE R BT SR B9 S 1E O

B2 SRS
RERFHFAZFRMBRE. B WONRKRS, ErmErl. &+ ERYSTHT IR
RBAR, SEFEYKE. RENEKR, RENESHAFRNFmRSHERNER, SIHiE
SEFERMRFAT R,

ERIIRS
AEFERANERRAANNEZER BP0, BAG7T 24N HEBREEAOXRT=RER.
FRIRE., MEEE. FRERF—RINTWHER, BREFE-RERZA, RXEEL
fRIREZ P XY E R PRI R

EPRS

UM ARNEREMEDXIRS, BIED. AE. WMOFRROKRS, EFNREEFNER
HHEX, EEEINERTR, INEFRERETINREEHBRSRE, BBEFEFmAE
BRARRLK, BRAZFNTHES.

BN &5

24N RIEID N ZFIRR, ARFIEREERNNEBREREARENESETEN, BI2EN
YMRAR, BRNTEEE—RINEGEFTRNE. X8, &, Bid. &E&. BRI, LIRS
%, UREBRSAREIIIX R T I HEIRTIRARS, BEREFHNETEZA LT —5%.




TERERNEER. KR/ EHUEEX. BFXs. BEFR. RERENME
BERR. BENOZNATAE. T, BEzhH. B, 8RR, EREM. BI.
RiBETAERT .

1. TERREETRBERERERIT, TREZFEXRHITENAS,

2. HIERHRAHFLTERRED, SEMNAR. SMEE. ThERIR,

3. FEARRBAKREEFK, KKXRESTHREKNERNEL,

4, ARHRABHEEXLLIE, BSRSEMERT, NALEEEER, R
TIRE, B8 7B ENERED.

5. TEREN~mB9-34EME, TEERNRHB2HRMIK.

1. %%
2, E=RE
3. HHEZRX%.

< SR

NI iPar s 2A: by
« Freefei s O
HREET O =

A W N =

f¥m
B

TERRRENETCREARBINEERZNFEINME, EIRES ORIE=RAT, B
FEWERETUAEL, MRIFERETIRBEHFENREL, BRERREANEEEH I
o

MERERILE, BRIFRERIERBINSERRESR LR, SEIHERN EZNFF
mER FREEIEEETNNMEm HHE, FBEEEEBERNBAIE EEEI R ERF
PRBRERATIIFHE. FERALFHEZRRTHEH LHAER2ME. BHE L ERMGEIEIERE

R/, RFR/NRYRIRTL A A RHE— L




a LOZ INTELLIGENT TRANSMISSION T FEREEDN

W FH S ey - APPLICATIONS:

i

*ESHigE BEEE BRI ETiRE GILES i &
semiconductor equipment Packaging equipment Precision machine Medical Equipment Robot hand Detection equipment

BN HREHIE ERBEI BEBR BT LESERNIA
Textile Machinery Auto manufacturing Nonstandard automation Satellite Communication Metal Processing Pharmaceutical industry
LONGZE INTELLIGENT TRANSMISSION can offer you the all the modifications requested in your field SN B, RS ENRIRE SR ERNE RT R, WF—LAREK , #)E
of application. Our sales and service network provides quick availability and competent SEBSIRMBENIREST R, BIIH9HIH0ME e iR REE AR 1B ERS
support. For special requirements we bring you individual solutions. Of course, our services are B. BRE(-RESMATIWENS M  ERFIUR , TUF |, EDRigE , 5
always cost optimized. Thanks to our professional expertise, our specialists provide technical and S BN, JETET | B  RTNSE | SEsE  DEEN, SEMNT

market consultation for a wide variety of industrial sectors.

HIZS T T VAT,

Y ki i B B . w




Z INTELLIGENT TRANSMISSION

® SELECTION OF THE OPTIMUM GEARBOX

ED<60%
t,on <20mins
(Eq.)

IR R et (EQ.2)
HEREL(Eq.2) RS

Tom (Eq.3)
TR R AT FASHIE
Tom(EQ.3)

TR R R AR
Tamax (EQ.4)

Tomax<T2s
Tam<Ton

RERARIHHEE N rpm]
Ny IRARSERREFRRRS

ny<

SERRADIAI o

NiMax

BEFRI/INVRAELY | M=

RIS SE LT 2000 [N
Tono (RABSERREFIOR

P

BEFRRA AT AR NRIEELL

EHiZDIA
AR Dmor
Dwot<C3

THEIRER N ERTEY
PRSI F o RAHEST Faam(EQ.6)

ERE LTRSS
SRR Fors BABEIIF 208 BOBVFE

iz

SRR Z3ENEI
—RE AR AIUAT AT

Y ] € v w

IS

1R AT HEAE N

N FRmEaET

Selection Start

I 1
To—
- ED<60%
) ' ' £, 0r <20mins
a ::m N :;233 (Eq.1)
% F:; FZ:,, """ u : @ Calculate the Ratio i(Eq.2)
)
75 Fa Faglt |
;H; ' ' Vo ! Calculate the Ratio i(Eq.2) - Calculate the Mean Output
' ! v ' Torque T, (Eq.3)
)
! ' ' ' Calculate the Mean Output
@ Ny f— -~ e Torque T, (Eq.3)
L g S AN
g n ' ' ' Calculate the Max. Acceleration
2 Torque T, (Eq4)
v ol =
foe Select a Larger
EiiE) Gearbox
Eork
1.ED = ——=— X 100%, t,,, =t,+t +1,
cycle Calculate the Max. Output Speed n,_[rpm]
THRRER C a. g CoE
d. g, p.EiE (Eq.1)
Select a Smaller Ratio i in Select a Larger
N Larger Motor if Needed Gearbox
2ie—
nwork
h Dk Calculate the Emergency Stop Torque T, ; [Nm]
m —] I E g
Porc SCRRATFRIZERE (Ea-2)

Select a Larger
Gearbox

Calculate the Mean Output Speed n, and the
(Eq.3) Nominal Output Speed n, of Gearbox (Eq.5)

3T, = 3, N, Xt XT, 3 XN, Xt XT, 340, Xt,XT,}
" N, Xt 40, X0, XT,
4T, =T xixfxn

2max

Select a Smaller Ratio i in Larger
Motor if Needed

Check Diameter of
Motor Output Shaft D,

D, <C3

Select a Larger
Gearbox

Calculate the Mean Radial F, _and
Axial Loads F,, on Output Shaft of Gearbox (Eq.6)
Calculate the Permitted Radial F, ; and

Axial Loads F,,; on Output Shaft of Gearbox

(Eq.4) p Select a Larger Gearbox or
Foum<F other Gearbox Series

n,, Xt,+n, Xt +n,, Xt

Select the Required Backlash and Shaft Option

Order your SESAME Gearbox

2m
L+t +t,
n
Ny = —=
i (Eq.5)
6.F,, = 3, N5 X & X Py Xy X8 XF, 20y X 8 XFy Recommended (for S5 Cycle Operation)
n,, Xt +n, Xt+n, Xt, The general design is given for The optimal design is given for
i J J, Load Inertia
FZa... = 3, n,, Xt x ansx Ny Xt X ic3+n2dxtdx sz ?g 4 X) ul T = ) Jm Motor Inertia
" nhxta+n2(><t(+n2dxtd
(Eq.6)

—

5

=,

Motion Profile

Y
s

Output Speed Loads on Output Shaft Output Torque

X 100%, t,,, =t +t +1,

cycle

Index : a. Acceleration, c. Constant,

d. Deceleration, p. Pause (Eq.1)
n
2.ie—
nwork
n. Output Speed of the Motor
N, Working Speed (Eq.2)

3T, = 3, N, Xt XT, 3 XN, Xt XT, 340, Xt,XT, 3
'V N, X0, X0, X, (03
4T, =T Xixf,xn
Where fis
T.s Max. Output Torque of the Motor
n Efficiency of the Gearbox (Eq.4)
1
5.0, =n,= > X n,
N XN, Xt4n,Xt,
o =
" L+t A+t
n
n, = —=
Mo (Eq.5)
6.F, = 3, N, X, XF, 39X, Xt XF, 340, Xt,XF, 3

n,, Xt 4n, Xt+n, Xt,

3 3
My, X, X Fy > XN, X XFy, 24y X 8, XF

3
2ad

Fan=3]
.V

ny, Xt 4+n, Xt+n,, Xt,

(Eq.6)




LOZ INTELLIGENT TRANSMISSION

> [Eppe—_——

Ty 7% 2 e 2

BUE15iHB8 / MODEL ILLUMINATE

CmEnERL: mmmR: : L :
| LSF060, LSFO90 ! 0 STk ! DooDEmS:
| LSF115 ! ! o os2:mERE ! ) CABEERES
| L : o g - !
| g :3.4.5 7.9, 10 b BEESE : PO !
' ez 12, 15, 20, 25. 30, 35, 40, 50, 70, . s Pl :
! 90. 100 - RS : P2 :
1JERBISi%TE - LSF060-10-S2-P2/#A FMSME-042GIU
5 : LSF060-10-52-P2/@14*30/(950*3/4-@4.5-@70
O FILLIN DATA OF MOTOR EFRES&EH
— (4-90°)aF
0
<
S
=7 i
_l\/lo’ror — E
Moy Lo —
OTOr Lapel.
iR - L
Motor Model: L
D
c OH
> & SPECIFICATIONS
Motor Motor P.C.D Motor  Actual Length
shaft F'ginge Shaft ﬂg?%? of %‘i’re Flange of Backlash
Dia. d Length 9 Bore a. Square Motor Shaft

DRMIME DAVEIME DkMKE DiANGEE BarlfuiiE B4 ER DRERYT DikEER BRER

@A(h6)  @B(h7) (@ D ok oF OH L PO/P1/P2




TE ST

hENIEEEEEl / GEAR BOX PERFORMANCE INFORMATION Sp2R<TE % / OUTLINE DIMENSION SHEET

#M#&Specifications B {ifunit T #Stage L3 Lk Ratio LSF060 LSF090 LSF115
3 44.2 95.2 283 LSF060-L1
4 35.9 74.6 249
; 5 43.0 95.2 238 "
7 36.0 85.6 219 igHim/OUTPUT NI/ INPUT
9 287 85.0 210 = oo
10 25.0 75.0 210 60 & 37
080 €10 6 7
12 44.2 95.2 283 po : T
_ 15 442 95.2 283 — 5 \I —
HUEH i 715ET2N N.m 20 35.9 74.6 249 25| 2
Nominal Output Torque
25 43.0 95.2 238 R
30 43.0 95.2 238 A Sl__ o Tl | PP
2 35 43.0 95.2 238 SITH L ! == =
40 43.0 952 238 O 17 |
50 43.0 95.2 238 A ] 28.5
70 36.0 85.6 219 i — IS
90 28.7 80.0 210 Il
100 25.0 75.0 210 =
AIEHET2NOT N.m i@ 3-100 SIEENERH S1%E
Emergency Stop Torque : N (3.0 times of Nominal Output Torque)
HEMN\ N rpm 1, 2 3~100 3000 3000 2500 LSFO060-L2
Nominal Input Speed
BRARHENFEENTmax
Max.lnput Speed rpm 1. 2 3~100 6000 6000 5000 ﬁﬂj /OUTPUT Eﬁ)\ﬁﬁ/ INPUT
BIEZELEPO arcmin 1 3~10 - - <3 9
Ultraprecise Blacklash 2 12~ 100 - — <5 060 cs 37 0c7
FEZ A EP arcmin 1 3~10 <6 <6 <5 pgo  L10 6 7
Precise Blacklash 2 12 ~100 <9 <9 <7 070 T ] L5
IR P2 , 1 3-10 =9 =9 =7 ¢ 1 \I o )
Standard Blacklash aremin 2 12~ 100 =12 =12 =9 —
HFERIE N.m R b
Torsional Rigidity /arcmin s & Sy e 75 155 | SF'J """" el LRt EEb b - F-‘-‘E\' §
Fif&miFars N 1, 2 3~100 960 1630 3380 7|
Max.Radial Load 285
. ! )
FiFHE J)F2aB N 1, 2 3~100 900 1420 2930 ﬂ—/l :I—
Max.Axial Load
I ce
=1
il °C 1, 2 3~100 -10° C~+90° C &
Operating Temp
fER%E 20,000
Service Life il 1l 2 Sty (10,000/i% £ iz %% continiu operationg)
E n ° 1 8-~ 10 =96% s #H72/Output Diameter
Efficiency & 2 12~ 100 =92% HIHH3HE/Outp
=5 . 1 3~10 12 32 75
Weight 5 2 12-100 1.9 53 12.0 BIS1 BIHS2
REF EEAE R
; . 1.2 3-~100 =T
mounting Position Any direction
MREE
i dBA/im 1.2 3~100 62 65 65
Noise Level
7k 7 m
Protection Class 2 8- 100 165 .
i S &R E R “EINDIRERR R, ATRIEE P E K IR E M.
Lolorteatien 1.2 3~100 Synthetic Lubricant *The input motor specific dimensions could be customised.
- — AEEES R | BEERERBTEN
BN NIRE *This drawing is only for reference
i Specifications F#Stage | @i bk Ratio L SFO60 LSF090 LSF115
e R E
4 0.16 0.65 1.80
; 5 0.15 0.62 1.61 $ 46 4-M4x12,4-M5x12 $ 30 9 126 10.3
7 0.14 0.60 1.55 $66.7 4-M4x12 <8 38 $38.1 3 60 83 120 4.3
9 0.14 0.60 1.53 LSFOB0-L1 | @70 | 4-M4x12,4-M5x12 [ <414 38 50 5 60 83 120 5.3
10 0.14 0.60 1.53 075 | 4-Mdx124-M5x12 | <14 | 385 160 5 66 835 120 55
12 0.15 0.62 1.61 $90 | 4-M5x154-M6x15 | < 19 44 370 7 80 89 128 11
it XN , = P o e 5100 4-M6x15 =019 | 44 80 7 90 89 128 1
Inertia kg.cm > 0iE 0 e 946 |4-M4x12, 4-M5x12| < ¢8 44 $30 9 60 117 154 10.3
% s 060 Tes $66.7 4-M4x12 <¢8 38 $38.1 3 60 111 148 43
5 = 04 080 Tee LSFoBo_Lo 270 | 4-Maxi2d-Ms5x12 | <14 38 $50 5 60 111 148 5.3
T S M R £ et o e oo ot s s
50 0.14 0.60 1.53 ‘1’ —M5Sx15,4-Méx Sé b7
- 0.14 0.60 1563 $ 100 4-M6x15 <$19 44 $80 7 90 117 156 11
90 0.14 0.60 1.53 * C1~C10 RAHINNED IR ERE R R, IR S P Bk IR E .
100 0.14 0.60 1.53 * C1~C10are motor (metric standard) specific dimensions, which could be customised,

 d e ,ahihdish @ v @ B “u




g LOZ INTELLIGENT TRANSMISSION 1%

SMiZRTEZ / OUTLINE DIMENSION SHEET

JMiZRTEZ / OUTLINE DIMENSION SHEET

450

o

HHiR/OUTPUT

ails

Hiis/OUTPUT N/ INPUT
Cc9
C8 48
C10 8 10
| 1.5
-E \\J 32 3
—i """" 1 ©
A - -p-ezmg £
5 :
| 36.5
d :
C6
C4
LSF090-L2
iHHiR/OUTPUT c9 BANis/ INPUT
C8 48
o118 C10 8 10
m I =
-E \\J 32 3
—E """" 1 ©
E E — I 2
5 :
[l 36. 5
i i
C6
C4

24.5

BIx(S1

BKS2

*ANDIEERER 2 R, AIRIER P E K A E .

*The input motor specific dimensions could be customised.

FERFSEER , ERIEERBTEN

*This drawing is only for reference

$70 4-M4x12,4-M5x12 [ < ¢ 14 47.5 $50 101 149 6
¢ 75 4-M4x12,4-M5x12 | < ¢ 14 47.5 $ 60 5.5 90 101 149 6
$ 90 4-M5x15,4-M6x15 | < ¢ 19 47.5 $70 7 90 101 149 7
$98.4 4-M6x15 <¢14 47.5 & 73 7 90 101 149 7
LSF090-L1 $98.4 4-M6x15 <¢14 47.5 ¢$ 60 7 90 101 149 7
¢ 100 4-M6x15 < ¢19 47.5 $ 80 7 90 101 149 7
¢ 115 4-M8x20 < $24 61.5 $ 95 10 100 113 161 12.5
$ 130 4-M8x20 < $24 61.5 $ 95 10 115 113 161 12.5
b 145 4-M8x20 < $24 61.5 $110 10 130 113 161 12.5
b 145 4-M8x20 < ¢$24 70.5 $ 110 10 130 122 170 21.5
$70 4-M4x12,4-M5x12 | < ¢ 14 47.5 $ 50 4 90 141 189 6
b 75 4-M4x12,4-M5x12 | < ¢ 14 47.5 ¢ 60 5.5 90 141 189 6
$ 90 4-M5x15,4-M6x15 [ < ¢ 19 47.5 $70 7 90 141 189 7
$98.4 4-M6x15 < ¢14 47.5 $73 7 90 141 189 7
$98.4 4-M6x15 < ¢14 47.5 ¢ 60 7 90 141 189 7
LSFos0-L2 ¢$ 100 4-M6x15 < $19 47.5 ¢ 80 7 90 141 189 7
b 115 4-M8x20 < 24 61.5 $ 95 10 100 153 201 12.5
¢ 130 4-M8x20 <24 61.5 95 10 115 153 161 12.5
b 145 4-M8x20 < $24 61.5 ¢ 110 10 130 153 201 12.5
b 145 4-M8x20 <24 70.5 ¢ 110 10 130 162 210 21.5
* Cl~C10 RRHIREDIRERE R R AIRIES P 2R HE M.

* C1~C10are motor (metric standard) specific dimensions, which could be customised,

5o

LSF115-L2

HHi%/OUTPUT

0148
|~
0130
| —=

0148
—
0130
| —=

C10

C9

C8

62

40

C10

Chg

C3

1
—

HINIR/ INPUT
oc?

ST

WEF™

@B

N -
uml___p______L ________ ""-F---‘ITI X
g o I LN —— —
I F N =
'O
1
! 30
1
! —| 51
6
c4
9
8 62
12 8
3
40
N .
JEO U P e Lok f
| L=yl § =
1 [ PR =2
'O
! 30
1
! —| 51

HINIR/ INPUT

oc7

CMANDIKERIR R, AIREE AR IR E M.

*The input motor specific dimensions could be customised.
AEEARESERER , BRSO ARBITEN

*This drawing is only for reference

A S1 AHS2

$90 | 4-M5x15,4-M6x15 | <19 | 485 $70 115 112.5 174.5
4100 4-M6x15 <¢19 | 485 480 7 115 112.5 174.5 7
®115 4-M8x20 < ¢ 24 58 $95 10 115 122 184 115
$130 4 M8x20 =924 58 $95 10 115 122 184 11.5

LSF115-L1 | _#132 4-M8x20 <924 58 85 10 115 122 184 115
$145 4-M8x20 <924 59 3110 10 130 123 185 12.5
$145 4-M8x20 <924 68 3110 10 130 132 194 215
$165 4-M10x30 <832 80 $130 10 142 1485 | 2105 18,5
200 4-M12x35 < $35 82 $114.3 8 180 150.5 | 2125 20.5
3215 4-M14x35 < $38 82 3180 8 190 150.56 | 2125 20.5
$90 | 4-M5x15,4-Méx15 | <¢19 | 485 70 7 115 160.5 174.5 7
$100 4-M6x15 <419 | 485 80 7 115 160.5 174.5 7
$115 4-M8x20 < $24 58 $95 10 115 170 184 11.5
$130 4-M8x20 < p24 58 $95 10 115 170 184 115
$132 4-M8x20 <924 58 85 10 115 170 184 115

LSF15-L2 ™45 4-M8x20 <924 59 $110 10 130 171 185 12.5
» 145 4-M8x20 < ¢ 24 68 110 10 130 180 194 215
3165 4-M10x30 <932 80 $130 10 142 196.5 | 2585 18.5
$200 4-M12x35 <35 82 ©114.3 8 180 1985 | 260.5 20.5
3215 4-M14x35 < $38 82 $180 8 190 1985 | 2605 20.5

* C1~C10 RAHINREDIRERR < R AR RS P E K IR EM.

* C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y @ O v @ i C - w



LOZ INTELLIGENT TRANSMISSION

- LHF ( &f5&#ha ) R

Ty 73 € e 2

BYSi5EH / MODEL ILLUMINATE

1
i
T [} I |
| EENE ; ! ‘
| LHF042, LHF060, i | st
' LHF090, LHF115, ) ‘ s1.2F,E7’n$m
| LHF142 ‘ : | S2THERE
l l |
_______________ !
i
RIELL

BB :3.4.5.7.9.10
SER : 12, 15, 20, 25. 30, 35, 40. 50, 70.
90, 100

ITEHREIBI%RE 1 LHF060-10-S2-P2/#A FMSME-042GIU
=% : LHF060-10-S2-P2/914*30/950*3/4-04.5-970

TREHA,
LHF180, LHF220

THIELL

BB :3.4.5 7,10

WER : 12, 150 20, 25, 30. 35. 40. 50, 70.
100

ITEREVEETE | LHF060-10-5S2-P2/#A FMSME-042GIU
5 : LHF060-10-S2-P2/(14*30/950*3/4-94.5-¢70

O FILLIN DATA OF MOTOR EFIESEH

ST FEskm

S2 : W%

%)
£
$
=17
Motor ] =
. 'y E,
=V 19
Motor Label: N
DRSS L
Motor Model: |
D
C

oixms :

DrRERT

{2
BEEEE : PO
BEEE : PL

TR - P2

1

1

1

0 i

1 1

1 1
1

i | DEHEERES

i :

1 1

1

1

1

1
1
1
: ;
1
i | oums:
| | DXHEERES
! | BERERY
! |
b o e e e e
|
1
B
@EEEE PO
fBEEk  P1
AR : P2
(4-90°)aF
ok




1o R ERRE SR

it b Ll S N oA 1
14855} / GEAR BOX PERFORMANCE INFORMATION MR B / OUTLINE DIMENSION SHEET
#M#&Specifications I Lk Ratio| LHF042 | LHF060 | LHF090 | LHF115 | LHF142 | LHF180 | LHF220
3 19 53 145 290 520 950 1550
4 20 55 150 300 550 1000 1650
1 5 17 54 140 290 530 1050 1700 LHF042-L1
7 14 44 125 270 450 960 1500
9 11 37 95 220 360 - - iR /OUTPUT i/ INPUT
10 11 37 95 220 360 620 1250 875
12 19 53 145 290 520 950 1550 o2 * s 5
15 19 53 145 290 520 950 1550 - M3
e
N B i th 7158 TN N.m 20 20 55 150 300 550 1000 1650 4.5 4 5.5
ominal Output Torque 0.5 \
25 17 54 140 290 530 1050 1700 T — 046 I <<
30 17 54 140 290 530 1050 1700 A \I 16 2 N 2 =
2 35 17 54 140 290 530 1050 1700 ! E[ 7= N o
40 20 55 150 300 550 1000 1650 o ' _______ 5 © "
50 17 54 140 290 530 1050 1700 gl gl_——ﬁ ———————— e EEEEE T TR - 3IIT E -
70 14 44 125 270 530 960 1500 < —;-C'j """ S
90 11 37 95 220 360 - - : 19.5
100 11 37 95 220 360 800 1250 b /I :I_
215 H4ET2NOT SfEFELH S48 I e N !
Emergency Stop Torque N.m 1.2 3~ 100 (3.0 times of Nominal Output Torque) 3.5 97 4 MAER10
i i
&;%ﬁ)\%’ﬁm rpm 1. 2 3~100 5000 5000 4000 4000 3000 3000 2000
Nominal Input Speed
AN EIENTmax
Max. nput Speed rpm 1, 2 3~100 10000 | 10000 8000 8000 6000 6000 4000 LHF042-L2
BIEZEEPO aremin 1 3~10 <2 <2 <2 <1 <1 <1 <1
Ultraprecise Blacklash 2 12~ 100 <4 <4 <4 <3 <3 <3 <3 IHHER/OUTPUT 109.0 HiNim/ INPUT
BEEEP1 ) 1 3~10 <4 <4 <4 <3 <3 <3 <3
Precise Blacklash aremin 2 12~ 100 <6 <6 <6 <5 <5 <5 <5 83.5 . 25555 M3
PR BEP2 aromin 1 3-10 <6 <6 <6 <5 <5 <5 <5 05622 :
Standard Blacklash 2 12 ~100 <8 <8 <8 <7 <7 <7 <7 4 050 |\| | -
| L
HEmtE N-m 1. 2 3~100 25 6 12 23 45 148 220 K 612 e
Torsional Rigidity /arcmin | E
BiFZEEAF2B o H I, 1 ©
Viax Radial Load N 1,2 3~100 515 1010 1780 3420 5380 8330 | 11120 -4 gl_"ﬂ ________ A S S — B At
S - ————— == S
HiFiE S F2aB i
Vi Aottel [Loend N 1. 2 3~100 410 600 1500 2650 4670 6460 8560 : O 19.5
N=] -
fERRE °C 1. 2 3-~100 ~10° C~+90° C |/| :I— .
Operating Temp a5 4-MAZE10 ;
A% hr 1. 2 3~100 20,000 27
Service Life N (10,000/3% £ 15 % continiu operationg)
R o 1 3~10 >97%
Efficiency 2 12 ~100 =94%
%4 K 1 3~10 0.6 1.3 3:5 7.8 16.1 30.0 58.0
Weight 9 2 12 ~100 0.9 2.0 5.6 9.5 19.0 42.0 65.0
REFE EEFME
mounting Position B 1.2 8~ 100 Any direction
=
ﬂ.;,; AiE dBA/1m 1. 2 3~100 56 58 60 63 65 67 70
Noise Level
4
Prog;?o% flass - 1.2 8~100 165 @
3] A g 3 B RE S ~ -
R 1.2 | 3-100 SABMRIRMN BABRERRL R, TREEAER M.
Lubrication Synthetic Lubricant ! . ; e T .
" 013, The input motor specific dimensions could be customised.
R LR AR = u , s araning s only or referane "
pecifications fLunit [T agd J atio
#i&Specificati B {Szunit [ #LSt B Lk Ratio| LHF042 | LHF060 | LHF090 | LHF115 | LHF142 | LHF180 | LHF220 Bs(s1 B(s2
3 0.03 0.23 0.97 2.35 10.00 28.90 69.63
4 0.02 0.18 0.67 1.66 717 24.00 54.25
1 5 0.02 0.17 0.65 1.50 6.52 23.27 53.30
7 0.02 0.14 0.60 1.45 6.17 22.42 51.00
9 0.02 0.14 0.58 1.41 6.10 - -
10 0.02 0.14 0.58 1.41 6.10 22.50 50.62
12 0.02 0.17 0.65 1.50 6.52 23.27 53.30
iR 15 0.02 0.17 0.65 1.50 6.52 24.27 54.37
Inertia kg.cm? 20 0.02 0.17 0.65 1.50 6.52 23.27 53.30
25 0.02 0.17 0.65 1.50 6.52 24.27 54.37
30 0.02 0.14 0.60 1.45 6.52 23.27 53.30
2 B85 0.02 0.14 0.60 1.45 6.52 24.27 54.37
40 0.02 0.14 0.60 1.45 6.52 23.27 53.30
50 0.02 0.14 0.58 1.41 6.10 22.50 52.45
70 0.02 0.14 0.58 1.41 6.10 22.50 52.45
90 0.02 0.14 0.58 1.41 6.10 - —
100 0.02 0.14 0.58 1.41 6.10 22.50 52.45

e i s C =Bl O O -




g LOZ INTELLIGENT TRANSMISSION y) A

SMiZRTEZ / OUTLINE DIMENSION SHEET

HHis/OUTPUT
Cc9
060 c8 37
80 c10 6 7
/ 070 I\I — 1.5
) 3
25 | 2
- -"""""" A E
ssrr ------------ FEIY g
O =
. 1 28.5
Il ce
C4

LHF060-L2

HHis/OUTPUT
9
60 C8 37
gso  C10 7
¥ 010 . I\I ] L5
25 2
_ Rttty 1 S
o E
| 17
28.5

BHS1

N KNI EEEE N

BHKS2

NEZHE

CRE=EC

N DIAERRC R, TRBE R ERAMEM.

*The input motor specific dimensions could be customised.

HINIR/ INPUT

SMiZRTEZ / OUTLINE DIMENSION SHEET

BN/ INPUT

*REURUESE[ER , HRESASTIEN
*This drawing is only for reference

©46 | 4-M4x12,4-M5x12 $30 9 126 10.3

$66.7 4-Mé4x12 <8 38 $38.1 3 60 83 120 43

LHF060-L1 | @70 | 4-Médx12,4-M5x12 | < ¢ 14 38 50 5 60 83 120 5.3
©75 | 4-M4x124-M5x12 | <o14 | 385 $60 5 66 835 120 55

$90 | 4-M5x15,4-M6x15 | < 419 44 »70 7 80 89 128 11

100 4-M6x15 <¢19 44 $80 7 90 89 128 11
©46_ | 4-Mdx12, 4-M5x12| < a8 44 30 9 60 117 154 10.3

$66.7 4-M4x12 <08 38 $38.1 3 60 111 148 43

LHFOB0L2 270 | 4-Mdx12.4-M5x12 | <14 38 50 5 60 111 148 53
©75 | 4-M4x10,4-M5x12 | <414 | 385 60 5 66 1115 148 55

$90 | 4-M5x15,4-M6x15 | < 419 44 $70 7 80 117 156 11

$100 4-M6x15 <¢19 44 $80 7 90 117 156 11

* C1~C10 RRHIREDIRIERERC R, AIRIES PR EBIREM.

* C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y B CC - -

HiHim/OUTPUT

C9

LHF090-L2

HiHim/OUTPUT

Ci0

0118
—

AS1

24.5_

0100
VT

C8 48
C10 8 10
1.5
N g
I~ |
: 32 3
I
) _:I _______ : r =7 o)
S i [l At “ro¢EEAY g
o :
| 36.5
d -
C6
Cc4
C9
c8 48
8 10
1.5
N g
1
: 32 3
[l
A : r =97 &
------ 2 il Rttt IR = -
1® :
| 36.5
d -

B=HS2

BN/ INPUT

SEEE)

IR/ INPUT

*EANDIEEERZ R, ARIER R E R B E M.

*The input motor specific dimensions could be customised.

*FERUESEER , BRIESEARBTER

*This drawing is only for reference

¢ 70 4-M4x12,4-M5x12 <¢14 47.5 50 101 149 6
& 75 4-M4x12,4-M5x12 <14 47.5 $ 60 5.5 90 101 149 6
$ 90 4-M5x15,4-M6x15 <¢19 47.5 $70 7 90 101 149 7
$98.4 4-M6x15 < ¢14 47.5 $73 7 90 101 149 7
LHF090—-L1 $98.4 4-M6x15 < ¢ 14 47.5 ¢ 60 7 90 101 149 7
¢$ 100 4-M6x15 <¢19 47.5 ¢ 80 7 90 101 149 7
¢ 115 4-M8x20 < ¢24 61.5 $ 95 10 100 113 161 12.5
¢ 130 4-M8x20 < ¢24 61.5 ¢ 95 10 115 113 161 12.5
¢$ 145 4-M8x20 < ¢24 61.5 ¢ 110 10 130 113 161 12.5
¢ 145 4-M8x20 < $24 70.5 ¢ 110 10 130 122 170 21.5
¢ 70 4-M4x12,4-M5x12 < ¢14 47.5 $ 50 4 90 141 189 6
b 75 4-M4x12,4-M5x12 < ¢ 14 47.5 ¢ 60 5.5 90 141 189 6
$ 90 4-M5x15,4-M6x15 <¢19 47.5 $70 7 90 141 189 7
$98.4 4-M6x15 < ¢14 47.5 $73 7 90 141 189 7
$98.4 4-M6x15 < ¢14 47.5 ¢ 60 7 90 141 189 7
LHF090-L2 ¢$ 100 4-M6x15 <¢19 47.5 ¢ 80 7 90 141 189 7
¢ 115 4-M8x20 < ¢24 61.5 ¢ 95 10 100 153 201 12.5
¢ 130 4-M8x20 < ¢24 61.5 ¢ 95 10 115 153 161 12.5
¢$ 145 4-M8x20 < ¢24 61.5 ¢ 110 10 130 153 201 12.5
¢ 145 4-M8x20 < $24 70.5 ¢ 110 10 130 162 210 21.5
* Cl~C10 RRHIMREDIRER R R FIRIES P E R RHE M.

* C1~C10are motor (metric standard) specific dimensions, which could be customised,




1o R ERRE SR

SMEERTEZ / OUTLINE DIMENSION SHEET SMzR~TElZ% / OUTLINE DIMENSION SHEET
LHF115-L1 LHF142-L1
t4i%/OUTPUT o s/ INPUT itHi/OUTPUT IR/ INPUT
C8 62 Cc9
LS €10 12 8 e 0142 c8 91 oo
0148 3 10 18 15
S il
0130 | — 3
& o i 0 | 5 - ]
) ! ! s |
A SL__L______ I D Boemqt 2 O N
! s B T T--y 2 P I I I Ao e B
Gt EO 30 S Ul_:_:_'______. ok |
. _: —I 51 i :I_ . 36
c6 T
Cc4 C6
LHF115-12 -
LHF142-L2
HHiE/OUTPUT = © 5 I Nim/ INPUT
0115 1o 12 s oc7 mtﬂﬁﬁ/OUTPUT €9 Eﬁ])\ﬁ#‘ﬁ/ INPUT
142 8 97
0148 3 ocr
— N 18 15
0130 i -
& a : s ! — =
] 1 N 63 5
' K - & |
o o I e S ISl —
- O 2 R U s B T -
| —l_ 5L i 36

C6
C4

MESH

12 METE
B G CAADBEERZ R, TREEAEREMEN. : MIE+2P CPADREERZ R, IRBEAERABEY.
*The input motor specific dimensions could be customised. . D *The input motor specific dimensions could be customised.

FERRFSEER , ERIERERBTEN FERRESEER , ERERERBTIEN

43

S RS2 *This drawing is only for reference 010 *This drawing is only for reference

90 | 4-M5x154-M6x15 | <19 485 470 7 115 112.5 174.5 7
4100 4-M6x15 <¢19 48.5 80 7 115 112.5 174.5 7
$130 4-M8x20 <924 58 $95 10 115 122 184 115

LHF115-L1 |_ 132 4-MBx20 <024 58 85 10 115 122 184 15 130 4-M8x20 < b 24 81 110 10 142 158 255 195
145 4-MBx20 <024 59 5110 10 130 123 185 125 e AP =24 1 $110 U Ui LEE e 192
0145 yRYTET =024 68 5110 10 130 132 194 215 $165 |4-M10x25, 4-M12x35] < 32 81 4130 10 142 158 255 19.5
165 4-M10x30 <32 80 130 10 42| 1485 | 2105 | 185 LHF142-L1 —2175 s =32 81 $130 10 L2l Ll 2io Lo
4200 4-M12x35 <435 82 $114.3 8 180 1505 | 2125 20.5 $185 4-M10x30 < 635 81 $150 8 160 158 255 19.5
$215 4-M14x35 < ¢38 82 $180 8 190 150.5 212.5 20.5 $200 4-M12x35 S 042 83 $114.3 8 180 160 257 21.5
90 | 4-M5x154-M6x15 | < & 19 48.5 370 7 115 160.5 174.5 7 $200 4-M12x35 < $42 115 $114.3 8 180 192 289 53.5
100 4-M6x15 <919 48.5 $80 7 115 160.5 174.5 7 3215 [4-M12x35, 4-M14x35] < $42 83 $180 8 190 160 257 215
»115 4-M8x20 <924 58 495 10 115 170 184 115 $130 4-M8x20 < $24 81 4110 10 142 222 319 19.5
130 4-M8x20 <024 58 $95 10 115 170 184 115 $145 4-M8x20 <$24 81 6110 10 142 222 319 195
$132 4-M8x20 <424 58 485 10 115 170 184 115 $165 [4-M10x25, 4-M12x35] < ¢ 32 81 130 10 142 222 319 19.5

LHFITS-L2 0 1as 4-M8x20 <924 | 50 | ot10 | 10 | 130 | 71 | 185 | 125 hF1ao_La L0175 4-M10x25 <032 | 81 | 9130 | 10 | 150 | 222 | 310 | 195
145 4-M8x20 <924 68 $110 10 130 180 194 215 $185 4-M10x30 <35 81 150 8 160 222 319 19.5
b 165 4-M10x30 < $32 80 b 130 10 142 196.5 258.5 18.5 $ 200 4-M12x35 < ¢ 42 83 $114.3 8 180 224 321 215
4200 4-M12x35 <935 82 1143 8 180 1985 | 2605 20.5 200 4-M12x35 < 042 115 »114.3 8 180 256 353 535
$215 4-M14x35 < $38 82 180 8 190 1985 | 2605 20.5 $215 [4-M12x35, 4-M14x35] < ¢ 42 83 $180 8 190 224 321 215

* C1~C10 BAFIRESIAEREIRZ R, I RIEE P ERBIREM. * C1~C10 BN EIFREDISNEERC R, ATiRIES A EREMER.

* C1~C10are motor (metric standard) specific dimensions, which could be customised, * C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y @ v Ol i -




P</  ozmrecentrmansmisson Al 7

JMiZRTEZ / OUTLINE DIMENSION SHEET JMiZRTEZ / OUTLINE DIMENSION SHEET

HHis/OUTPUT " @ N/ INPUT iR /OUTPUT o BN/ INPUT
0180 C8 105 C8 138 oc7
C10 15 20 ocr D22200 C10 20 30
s 0290 .3
] ¥ 0250 -
70 6 2 A an | 90 T
™ 1
i O J:l : Q -F+- ';[
g 3]_ T ) B =t E g|° *,‘i"““:f """" T Yy =
i 7 o 12
I 42 & G ! 22|
82 H —I_ 105
C6 C6
Cc4 C4
LHF180-L2 LHF220-L2
i/ OUTPUT . NI/ INPUT fEHi%/OUTPUT . s/ INPUT
C8 138
0180 C8 105
c10 15 20 ot DZZZ(? C10 20 30 ocr
3 T 0290 3
: ¢ 0250 Ll ]
0 | 6 g r 90 7
] lo [ —
4 = o 4 &
e s - 8 S ';51'_ O =
12 ¢ ' L]
82 —I 105
C6
C4

NEZME

CEADRERERZ R, TARIER AR E M.

*The input motor specific dimensions could be customised.
AR UESEER , EREERABTIEN

B CIADIRERR R, ATRIEE PR B E
*The input motor specific dimensions could be customised.

FEEUESEER , EEIESERBTER

1
79.5

|05, | 055,

BIFHS1 BTS2 *This drawing is only for reference AIHS1 AIFS2 *This drawing is only for reference
2 ST N N I IO ST S N I D

$165 [4-M10x25, 4-M12x35| < 32 180 285 15.5
¢$ 200 4-M12x35 < ¢ 42 86 <1>1143 180 180 285 15.5

LHF180-L1 ¢ 200 4-M12x35 < 42 118 $114.3 10 180 212 317 47.5
$215 4-M14x35 < ¢ 42 86 ¢ 180 10 190 180 285 15.5
0215 | aMinss | —g2 | t18 | o0 [ 10 | te0 | o2 | o7 | 4rs L o Lo o Lo Los Loe ) or Los Lo oo
$235 [4-M10x30, 4-M14x35[ < $55 118 $ 200 10 220 212 317 47.5 $ 200 4-M12x35 < $42 $114.3 353.5
¢ 130 4-M8x20 <24 81 ¢ 110 10 142 240 345 19.5 LHF220-L1 $215 4-M14x35 < ¢42 119 $ 180 220 2155 353.5 27
b 145 4-M8x20 < d24 81 ¢ 110 10 142 240 345 19.5 $235 [4-M12x35,4-M14x35| < 55 119 $ 200 10 220 215.5 353.5 27
¢ 165 |4-M10x25,4-M12x35| < ¢ 32 86 ¢ 130 8 180 242 347 215 $ 165 [4-M10x25,4-M12x35| < ¢32 86 $ 130 10 180 269.5 407.5 15.5
¢ 200 4-M12x35 < $42 83 $114.3 8 180 242 347 21.5 $ 200 4-M12x35 < 42 86 $114.3 10 180 269.5 407.5 15.5

LHF180-L2 $200 [4-M10x25,4-M12x35| < ¢p42 115 $114.3 8 180 274 379 53.5 LHF220-L2 $ 200 4-M12x35 < 42 118 $114.3 10 180 301.5 439.5 47.5
$215 4-M14x35 < $42 83 ¢ 180 8 190 242 347 21.5 $215  [4-M12x35, 4-M14x35| < ¢ 42 86 ¢$ 180 10 190 269.5 407.5 15.5
¢ 215 4-M14x35 < 42 115 ¢ 180 8 190 274 379 53.5 $215  [4-M12x35,4-M14x35| < ¢ 42 118 ¢$ 180 10 190 301.5 439.5 47.5
$235 [4-M10x30, 4-M14x35| < ¢ 55 118 $ 200 10 220 274 379 47.5 $235  [4-M12x35,4-M14x35| < ¢ 55 118 ¢$ 200 10 220 301.5 439.5 47.5

* C1~C10 2ATIREDINERIRC R, I RIEE R E R EIREM. * C1~C10 2ABIRESIAERERZ R, I RIEE R ERRIREM.

* C1~C10are motor (metric standard) specific dimensions, which could be customised. * C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y @  C B w




LA R

IR

LSFZ060, LSFZ090 i
S2 : TSR

1

1
o |
l : l
LSFZ115 } 0 S1: FiBSeh :
} i l
| : |
| |

1

1

1

1

| AL

' eg:3.4.5 7.9 10, 20

' g :12, 15, 16, 25, 30, 35, 40
! 50, 70. 90. 100

ITHELEERE « LSFZ060-10-52-P2/#A RMSME-042GIU
5 : LSFZ060-10-52-P2/(14*30/(50*3/4-(4.5-¢70

)
=
<
N
ik i
Motor —4 <
- =
Voo Lo " ®
otor Label:
CARIS - L
Motor Model: |
D
C
SPECIFICATIONS
Motor Fl Motor Fl P.C.D B
Sharft g.”ge Sharft HO.”%? of que
Dia. 'a. Length €9 Bore 'a.

1

1

1
0 | }
E | Dims l
i | DRHEBRES |
! | DRRERT ;
1 ] I
1 ‘ |
0 LR,

1
[ _I _____________________ '
1
EhE :
S : PO !
s Pl !
T P2 :
1

(4-90°)aF

Motor  Actual Length

Flange of Backlash
Square Motor Shaft

DREIME DiAMESME DMK E DROSFEE B2flhiE BuerER DRERY DR#ERK BEXRERK

2A(h6) 2B(h7) C D ok ok

OH L PO/P1/P2




P</  ozwecentmasmisson o Aeerl 7

)ﬁﬁ‘ﬁm'ﬁ“"ﬁ‘ﬂ/ GEAR BOX PERFORMANCE INFORMATION SMEZRTEZ / OUTLINE DIMENSION SHEET

4 359 3?1?; 249 Sl Ua
: : BN/ INPUT
5 43.0 95.2 238 tHi%/OUTPUT =
6 44.2 95.2 283 60
7 36.0 85.6 219 080
1 8 35.9 74.6 249 /ﬂ
9 28.7 85.0 210 &
10 43.0 95.2 238
14 36.0 85.6 219
18 28.7 85.0 210
. 20 25.0 75.0 210 G =
HUEHIH A AET2N N.m 12 44.2 95.2 283
Nominal Output Torque
15 442 95.2 283 4055
20 35.9 74.6 249
25 43.0 95.2 238
30 44.2 95.2 283
5 35 43.0 95.2 238
40 35.9 74.6 249 o
45 43.0 95.2 238 -
50 43.0 95.2 238
70 43.0 95.2 238
90 43.0 95.2 238
100 43.0 95.2 238 LSFZ060-L2 9 N/ INPUT
AfEHET2NOT fEEEHE H4E uy c8 37
Emergency Stop Torque N.m 2 38-100 (3.0 times of Nominal Output Torque) ittt/ OUTPUT . - oor
BE RN N —
Nominal Input Speed rpm 1. 2 3~100 3000 3000 2500 /% |
= KN ENnTmax ﬂ 070 D
Max.Input Speed rpm 1. 2 3~100 6000 6000 5000 ) , &
BHEE BP0 . 1 3-10 - - - |
Ultraprecise Blacklash arcmin 2 12 ~ 100 _ _ _ B 1
— 1
HEE P arcmin 1 3~10 <9 <9 <9 % !
Precise Blacklash 2 12 ~100 <12 =12 <12 !
FRET P2 aremin 1 3~10 <12 =12 <12 o R
Standard Blacklash 2 12 ~100 <15 <15 <15 : : :
HEERE N.m bt 3
Torsional Rigidity Jarcmin 1.2 Sy e vE 15.5 | I :5:1Q
BRI F2rB N 1.2 3-~100 960 1630 3380 < ¢ -
Max.Radial Load S 5 =
FiF 5 1 F2aB
Max. Axial Load N 1. 2 3~100 900 1420 2930
N=1
o AR E °C 1.2 3~100 -10° C~+90° C
perating Temp 1iH4M{2/Output Diameter
i hr 1. 2 3~100 ALY
Service Life N (10,000/#Z &£ 1= # continiu operationg) ) ,
FrE o 1 3~10 =>95% B{S1 AHS2 _
Efficiency ° 2 12~ 100 =92% METRE
= 1 3~10 1.3 3.5 7.8 ! o N
= kg BABREERZ R, TREEAER M.
elg 2 12~100 20 5.6 9.5 @ *The input motor specific dimensions could be customised.
[l | ==
RETE 12 3100 ERTA m REMHUFSEER | SEENEABTEN
mounting Position Any direction " *This drawing is only for reference
2=
HREE dBA/1m 1, 2 3~100 63 65 68
Noise Level
B IR &
i £ & RS 46 | 4-M4x12,4-M5x12 | <8 37.5 $30 10.5 110 115 110.5
Lubricati 1.2 8~ 100 Synthetic Lub t
ubrication MRS LUBITEET $66.7 4-M4x12 <08 32 $38.1 5 60 110 147 5.5 105
EH RS LSFZ060-L1|__ 70 | 4-M4x10,4-M5x12 | <414 32 50 5 60 110 147 6 105
. . . ©75 | 4-M4x124-M6x12 | <14 | 32 60 5 66 113 150 6 105
#i&Specifications T #Stage | B iEbRatio LSFZ060 LSFZ090 LSFZ115 $90 4-M6x15 <19 42 370 7 30 120 160 1 117
3 0.14 0.65 1.53 $100 4-M6x15 <¢19 44 $80 7 90 120 160 11 117
4 0.18 0.68 1.68 46 | 4-M4x12,4-M5x12 | <48 37.5 $30 10.5 60 138 175 115 110.5
1 5 0.17 0.66 1.55 $66.7 4-M4x12 <8 32 $38.1 5] 60 138 175 515] 105
. 6/7/8 0.15 0.60 1.48 - $70 | 4-M4x10,4-M5x12 | < ¢ 14 32 50 5 60 138 175 6 105
%ZI?’J fﬁ'?tfﬁﬂ kg.cm? 91014720 014 058 145 LSFZ080-L2 I — T maxto.aMexi2 | =¢1a | 32 60 5 66 12 178 6 105
nertia 15/18/20/25 0.18 0.68 161 90 4-M6x15 <419 | 42 $70 7 80 148 188 11 117
30/35/40 0.15 0.68 1.61 $ 100 4-M6x15 <$19 44 $ 80 7 90 148 188 11 117
45/50/70 0.15 0.60 1.55 * CL~C RRBIREDIAERR R, RS A EREER.
80/90/100 0.14 0.60 1.55 * C1~C11 are motor (metric standard) specific dimensions, which could be customised,

e titii'sl66 e C O -




PL/  ozmieieewtimaNswsson et

SMERTE / OUTLINE DIMENSION SHEET SMERTE / OUTLINE DIMENSION SHEET
.

. = m SI\is/ INPUT TR o NI/ INPUT
Hitis/OUTPUT : - HHH/OUTPUT 12 5 o
| oLLE N 32 3 = -
) 0100 /ﬁ 10 | 5
S/ Ny | S AR 2 § a o g
| st 0 N >f{yY A&\\yrN--- ‘NS > = N N S S e e L === =
By ! [z ] - v \1--£ =
3 (:> : L_ 36.5 = (:) i 30
% ! - N ! - [—2
y T N ca
| _4-06.5 . 408.5 N |
TR - K4-08.5 I L I
E—— | T | — 3 1 1 1 ol
e elin
! B
: : ] 1.
| © C5y

LSFZ090-L2 o

B/ INPUT CLSFz115-L2]
i/ OUTPUT = : n WA, LSFZ115-L2
1| )

& tEis/OUTPUT o5 62

IR/ INPUT

0118
—
0100
L —

50

080g6

0148
—
0130
| —=

40 5

Cl1

45

I
I
I
I
I
I
I
I
|
T
I
I
I
I
1
|
I
I
I
I
I
:
|
| £
[
1
A
0110g6

G\ r
= |
| 4-06.5 r = ) ! [0 |
| O]
! 5T, . ! —
[ gy 1
1P Lo 5 b ]
t T PR T
o c3 s [ 8
3 o Lo uO
e
ol L -
i H4H{2/Output Diameter s -
METTH
O @ B0
CEAD AR L RT, ARIEE IR S . 572 /Output Diameter
" *The input motor specific dimensions could be customised.
FEURESEERA , EEENRBTEA HEE
AS1 RS2 *This drawing is only for reference
@70 4-MAx10.4-MSx12 014 47 Y 4 9 154 002 65 143 *The input motor specific dimensions could be customised.
—~M4x10,4-M5x < . bt e =
*AEEUFSEER , HHERBABTEN
$75 4-M4x12,4-M5x12 < ¢14 47 $ 60 515) 90 154 202 6.5 143 gg:—:ts 1 *This drawing is only for reference
$ 90 4-M5x15,4-M6x15 <$19 47 $70 7 90 154 202 7.5 143
$98.4 | 4-M5x15,4-M6x15 < $14 47.5 $73 7 90 154 202 7.5 143
i i s SEAS See R N 0 R N N A
¢$ 100 4-M6x15 < ¢19 47.5 $ 80 7 90 154 202 12.5 143
115 4_M8x20 <024 59 95 10 100 159 207 125 155 $90 4-M5x15,4-M6x15 <¢19 62 $70 7 115 198 260 12 180
$ 130 4-M8x20 < 24 59 $ 95 10 115 166.5 214.5 12.5 155 ¢ 100 4-M6x15 <¢19 62 $ 80 7 115 198 260 12 180
$ 145 4-M8x20 < $24 59 $110 10 130 174 262 12.5 155 $115 4-M8x20 <¢24 62 $95 10 115 198 260 13 180
145 4-M8x20 <24 68 $110 10 130 174 262 215 164 LSFZ115-L11™ 4430 4-M8x20 <024 62 $95 10 115 198 260 13 180
$70 4-M4x10,4-M5x12 <d14 47 $ 50 4 90 194 262 6.5 143 $ 132 4-M8x20 < $24 62 $ 95 10 115 198 260 13 180
$ 75 4-M4x12,4-M5x12 < ¢ 14 47 $ 60 515 90 194 262 6.5 143 $ 145 4-M8x20 <24 62 $110 10 130 205.5 267.5 13 180
$90 4-M5x15,4-M6x15 < $19 47 b 70 7 90 194 262 7.5 143 $ 145 4-M8x20 < 24 71 $110 10 130 205.5 267.5 22 189
$98.4 4-M5x15,4-M6x15 <14 47.5 $ 73 7 90 194 262 7.5 143 $ 90 4-M5x15,4-M6x15 <¢19 62 $70 7 115 246 260 12 180
LSFZ090-L2|—* 98.4 4-M6x15 <14 47.5 ¢ 60 7 90 194 262 7.5 143 100 4-M6x15 <19 62 $ 80 7 115 246 260 12 180
$ 100 4-M6x15 <19 47.5 ¢ 80 7 90 194 262 12.5 143 $115 4-M8x20 < (24 62 95 10 115 246 260 13 180
b 115 4-M8x20 < 24 59 ¢ 95 10 100 199 267 12.5 155 LSFZ115-L2 $ 130 4-M8x20 < $24 62 $ 95 10 115 246 260 13 180
¢ 130 4-M8x20 < $24 59 $ 95 10 115 206.5 254.5 12.5 155 $132 4-M8x20 <24 62 $ 95 10 115 246 260 13 180
$ 145 4-M8x20 <924 59 $ 110 10 130 214 272 12.5 155 145 4-M8x20 < 24 62 $110 10 130 25815 315.5 13 180
b 145 4-M8x20 < $24 68 $ 110 10 130 214 272 21.5 164 $ 145 4-M8x20 < $24 71 $110 10 130 253.5 315.5 22 189
* C1~CH BARIREDINERIRZ R eI RIEE PRI E, * C1~CH ERSIREDIAERRZ R RS P E R,
* C1~C11 are motor (metric standard) specific dimensions, which could be customised, * C1~C11 are motor (metric standard) specific dimensions, which could be customised,

Y S @ v B a#C  i -




.gcf

IRERATLEE

LHFZ060. LHFZ090
LHFZ115, LHFZ142

IELE

BEg:3.4.5 7.9, 10, 20

WER : 12, 15, 16, 25, 30, 35. 40
50. 70. 90. 100

B
S1: Bt
S2 : it

ITERBVE%E : LHFZ060-10-S2-P2/#A FMSME-042GIU
= : LHFZ060-10-S2-P2/(p14*30/¢050*3/4-04.5-¢70

TRIEALE ©
LHFZ180. LHFZ220

1
| RlELY
' mEg:3. 4.5 7,10, 20

' ez 12, 15, 16, 25, 30, 35, 40
! 50, 70, 100

ofaak

S1: FiEti
S2 : BfitReH

JTERBIE%E : LHFZ060-10-S2-P2/#A FMSME-042GIU
& : LHFZ060-10-S2-P2/p14*30/¢50*3/4-¢4.5-¢70

ik

Motor

1
1
1
: :
1
! | BiAES
| | DRHEBRES
: | BRRERT
, :
, :
| L
______________ L.
B
BWEER : PO
s : Pl
FREERSH : P2
| |
R (R
! |
1
- | DERS
i | DREERES
! | BRRERY
! :
0 I
R S
______________ L.
B
@S : PO
g < Pl
HREERE : P2
(4-90°)aF

Ah6)

=N
Motor Label:

RRE .
Motor Model:

@B(h7)




P&/  ozwTELGENTTRANSMISSION el

TN EREEEF] / GEAR BOX PERFORMANCE INFORMATION SMEERTEZ / OUTLINE DIMENSION SHEET
3 19 53 145 290 520 950 1550
4 20 55 150 300 550 1000 1650
5 17 54 140 290 530 1050 1700 LHFZ042-L1
6 19 53 145 290 520 950 1550
7 14 a4 125 270 450 960 1500 " "
1 8 20 55 150 300 550 1000 1650 iIR/OUTPUT IR/ INPUT
9 11 37 95 220 360 950 1550 104.5
10 11 37 95 220 360 1050 1700 9 25.5 o043
14 14 44 125 270 450 960 1500 1 2 .
18 11 37 95 220 360 800 1250 - ‘16 . XB)@ g
. 20 11 37 95 220 360 800 1250 A o/ |, ,
Nfrfi’fjﬁgi tjp’ flgr';ue N.m 12 19 53 145 290 520 950 1550 y & | — . y % | § ©
15 19 53 145 290 520 950 1550 S J-es=gr & )
20 20 55 150 300 550 1000 1650 o ! 1 8 S
25 17 54 140 290 530 1050 1700 G ! 19.5 & 0, o
30 19 53 145 290 520 950 1550 ! U @}»1
5 35 17 54 140 290 530 1050 1700 ! ot o
40 20 55 150 300 550 1000 1650 C
45 17 54 140 290 530 - - L
50 17 54 140 290 530 1050 1700 i : i S
70 17 54 140 290 530 1050 1700 _— '_+_ _,'[Q,__ _'
90 17 54 140 290 530 = = &
100 17 54 140 290 530 1050 1700 030 “"
215 HET2NOT N 1. 2 3-100 SfERERH 15
Emergency Stop Torque ' N (3.0 times of Nominal Output Torque)
Noﬁﬁfﬁﬁ%ge g rpm 1,2 3~100 5000 3000 3000 3000 3000 1500 1500 LHFZ042-12
ﬁﬁfﬂfﬁi’;’xx rom 1, 2 3~100 10000 | 6000 6000 6000 6000 3000 3000
. iHis/OUTPUT N/ INPUT
BIEEERPO aremin 1 3~10 <5 <5 <5 <5 <5 <5 <5 126
Ultraprecise Blacklash 2 12 ~100 <8 <8 <8 <8 <8 <8 <8
BB RP —_— 1 3-~10 <7 <7 <7 <7 <7 <7 <7 100.5 - 2§~55 3
Precise Blacklash 2 12~100 <10 <10 <10 <10 <10 <10 <10 0'.5
TR BEP2 ) 1 3~10 <9 <9 <9 <9 <9 <9 <9 - b ] <
Standard Blacklash aremin 2 12-100 =12 <12 <12 <12 <12 =12 =12 & > 16 | 2| ¢ ,D\© %
HRAE N.m 1. 2 3~100 25 6 12 23 45 148 220 B © Y N
Torsional Rigidity /arcmin prmmmmmm e _ ] '€E::|'3: L g
RHiFzmAF2rB ! A—aN
Viax Radial Load N 1,2 3~100 515 1010 1780 3420 5380 8330 11120 - @) i o 5. % o /
HITHE 71 F2aB N 1, 2 3-~100 410 600 1500 2650 4670 6460 8560 | Ner NI @g
Max.Axial Load '__: 046 o
ERRE E AL
i °C 1,2 3~100 -10° C~+90° C i
Operating Temp ! ! ! N
& 20,000 L a
SE\TC?LIijfe hr 1.2 SISy (10,000/i% &£ 1= ¥4 continiu operationg) — '_l._i_c_)_,___i
HE o 1 3~10 =>95% s
Efficiency 2 12~100 =>02% 030, c‘f’)‘
8 kg 1 3-~10 1 13 35 7.8 16.1 30.0 58.0
Weight 2 12 ~ 100 1.4 2.0 5.6 9.5 19.0 42.0 67.0
REFHE _ 12 3-100 EEFE
mounting Position N Any direction Eﬁ.‘:ljimﬁé/Output Diameter
N REE dBA/AmM | 1. 2 3-~100 62 63 65 70 70 73 75
oise Level
R T MEFTRA
Protectiog:F Class - 1.2 3~100 Ip65 :
e & REEER
Lubrication e 8-100 Syntﬂgﬁc]l_ubricant
:ﬁl)e\ﬁﬁfn%ﬁ%ﬁ;{icﬁgﬁﬁffnifizﬁf gf;tomised
BRI ] E RERUESEFER |, BRESIEABTIEM
A% b Ratio RSl B{s2 *This drawing s only for reference
3 0.06 0.23 0.98 2.36 10.10 31.00 79.63
4 0.06 0.18 0.68 1.68 7.30 26.00 59.30
1 5 0.06 017 0.66 1.55 6.58 23.80 54.86
R 6/7/8 0.05 0.15 0.60 1.48 6.22 23.00 54.32
ﬁﬂﬁi‘” kg.cm2 9/10/14/18/20 0.06 0.14 0.58 1.45 6.15 22.90 54.00
12/15/18/20/15 | 0.05 0.18 0.68 2.40 6.52 2427 5437
5 30/35/40 0.05 0.15 0.68 1.68 6.52 23.82 54.37
45/50/70 0.05 0.15 0.60 1.51 6.21 22.94 53.30
80/90/100 0.05 0.14 0.60 1.41 6.10 2275 52.45

Y @@ B C i C O Ol P -




YL/  ozmreweewttRavsvisson o e

SMzR~TEZ / OUTLINE DIMENSION SHEET SpMEzR~TEZR / OUTLINE DIMENSION SHEET
.

= = i N/ INPUT
iR/ OUTPUT I/ INPUT 3tHisk/OUTPUT : E
9 0090 -
060 c8 37 0cr | ous .
080 6 7 0100
Y’ 070 L5 & ©
. - i & 2
g«’ 25 ._2 I S
I _ |
J = !
- pagey 4§ N 2l 1
[ = &, :
¢ e T
N = 28.5 _4-06.5 : ! :
- ! F— (] =T 3
N 1 [
: 1-05.5 || : || .:,-|Q_
L] . o e
i ' © Chpg
i l
1
. LHFZ090-L2 "
E - — - BN/ INPUT
iHim/OUTPUT 8 10
LHFZ060-L2 "
LS 32 3
HiHim/OUTPUT N/ INPUT , 0100
c9 g _emmrl B
0cr 1 = 8
060 » cs - 737 - i : —
v o070 15 = ! seL-_5
& o | 25 2 . _ :_
T
|_4-06.5 : ! :
| B : T L OTI°
G | ] L il e
5 : 28.5 : E C3 3
| 1-05.5 i : 3 o
| : | r_i_ | ,
: T HiH4m/Z/Output Diameter
| [ S .
| I _J__J[Q_ nE
1 1
1 1

‘ B ‘ ENDIRERERZ R, ATRER R ER M EM.

M *The input motor specific dimensions could be customised.

Hit##2/Output Diameter HEMHUES B , BEERERBTEN

RS RS2 *This drawing is only for reference

= ‘ S ECH I T N N A N TR O

C10
5 (2

C6
24.5

, M5%0. 8P

a ol a WADSERIL R, TRBESEREME T
m *Trj1e input motor specifi’c dimensions could be customised. b 75 4-M4x12,4-M5x12 <14 47 60 55 90 154 202 6.5 143
KBRS | B RS TEN $ 90 4-M5x15,4-M6x15 < ¢$19 47 $» 70 7 90 154 202 7.5 143
ﬂ:—:ts 1 EJEtSZ *This drawing is only for reference $98.4 4-M5x15,4-M6x15 <14 47.5 73 7 90 154 202 7.5 143
LHFZ090-L1 $98.4 4-M6x15 <14 47.5 $ 60 7 90 154 202 7.5 143
¢$ 100 4-M6x15 < $19 47.5 $ 80 7 90 154 202 12.5 143
I R I T A A
$ 130 4-M8x20 < 24 59 $ 95 10 115 166.5 214.5 12.5 155
$ 46 4-M4x12,4-M5x12 <¢8 37.5 $ 30 10.5 110 147 11.5 110.5 145 2-MBx20 =024 59 2110 10 130 172 260 125 155
$66.7 4-M4x12 <8 32 ¢ 38.1 5 60 110 147 515] 105 145 4-M8x20 < $24 68 110 10 130 174 262 215 164
LHFZ060-L1| @70 [ 4-M4x10,4-M5x12 | < ¢ 14 32 $50 5 60 110 147 6 105 970 | 4-M4x10,4-M5x12 | <14 47 50 4 90 194 262 6.5 143
b 75 4-M4x12,4-M5x12 < ¢14 32 $ 60 5 66 113 150 6 105 $ 75 4-M4x12,4-M5x12 < ¢ 14 47 $ 60 515 90 194 262 6.5 143
$ 90 4-M6x15 < $19 42 $ 70 7 80 120 160 11 117 $ 90 4-M5x15,4-M6x15 <19 47 $70 7 90 194 262 7.5 143
$ 100 4-M6x15 <$19 44 $ 80 7 90 120 160 11 117 $98.4 4-M5x15,4-M6x15 <14 47.5 $73 7 90 194 262 7.5 143
$ 46 4-M4x12,4-M5x12 <¢8 37.5 $ 30 10.5 60 138 175 11.5 110.5 LHFZ090-L2 $98.4 4-M6x15 <¢d14 47.5 $ 60 7 90 194 262 7.5 143
$66.7 4-M4x12 < ¢8 32 ¢$ 38.1 5 60 138 175 55 105 $ 100 4-M6x15 < ¢19 47.5 $ 80 7 90 194 262 12.5 143
LHFZ060-L2 $70 4-M4x10,4-M5x12 < ¢14 32 $ 50 5 60 138 175 6 105 115 4-M8x20 < $p24 59 $ 95 10 100 199 267 12.5 155
b 75 4-M4x12,4-M5x12 < ¢ 14 32 $ 60 5] 66 141 178 6 105 $ 130 4-M8x20 < $24 59 $ 95 10 115 206.5 254.5 12.5 155
$90 4-M6x15 < $19 42 $70 7 80 148 188 11 117 $ 145 4-M8x20 < $p24 59 110 10 130 214 272 12.5 155
$ 100 4-M6x15 <$19 44 $ 80 7 90 148 188 11 117 b 145 4-M8x20 < 24 68 $ 110 10 130 214 272 21.5 164
* C1~C1 2ATIREDIANERRZ R, I RIEE R EREIREM. * Cl~CN BABWRESREERC R I iRIEE P ERBIREM.
* C1~C11 are motor (metric standard) specific dimensions, which could be customised. * C1~C11 are motor (metric standard) specific dimensions, which could be customised,

Y B B i -




YL/  ozmreweewttRavsvisson o e

SMiZRTEZ / OUTLINE DIMENSION SHEET SMiZRTEZ / OUTLINE DIMENSION SHEET

= BN/ INPUT
HtHiw/OUTPUT = = HtHiw/OUTPUT o9 N/ INPUT
12 8 cs 97
3 oc
= : Oi42 18 135
0148 0 15 12 — ocr
— 0186
0130 . e 63 5
& o [N R L _n::_f & . @ T ] e <
| - = # | g &
! o R T EEEE et 1
= e | 30 . a2
° i — = g 47 =
&, oy ~ 79
° Lo | ¢ . =
4-08.5 T - T . ! X Tt i
e :O 8 by : . 1-010.5 | L P
e g2 S saomily
z C5 | ° ﬁ.l 3|
T e 5
CEEZLLSEEe LHFZ142-L2
9 im/ INPUT
@iti/OUTPUT G 2z AN _— o -
" . i HHiR/OUTPUT . o N/ INPUT
3
— - 18 15
L8 0 15 12 — =
0130 X 0186 oct
‘ = E--{ . & /@ > 63 5
o ISRt It | S -
i i = VAR VRN 11 (VN N R S AN R I -
4 llof N 57 ] B
¢ ! 5 5] I
NAZ08.5 E-? X | <y .—ll-, 79
| L [ . : ' T
:i_:O 8 1-010.5 I L I| .
b pif= o
T BT T e
S Chp, ° = ‘C.—SJ S'
< Cpgh
MEFTE
METTE

M16%2P

: B *ANDIEERERZ R, ATRIER P E K B E .

*The input motor specific dimensions could be customised.

*RELRUESE[ER |, HRESEASTIEN
ABHS1 AI{(S2 *This drawing is only for reference

: J’;‘ “ADAEBIRZ R, TRBERERBMEM.

*The input motor specific dimensions could be customised.
CRELRUESEER |, BEESTEASTIEN

US1 IS2 *This drawing is only for reference
260 12

$90 4-M5x15,4-M6x15 <¢19 62 &70 7 115 198 180
»115 4-M8x20 < 24 62 95 10 115 198 260 13 180 $ 130 4-M8x20 < $24 81 ¢ 110 10 142 240 337 19.5 219
LHFZ115-L1 130 4-M8x20 < §24 62 $95 10 115 198 260 13 180 ¢ 145 4-M8x20 < $28 81 110 10 142 240 337 19.5 219
132 4-M8x20 < 24 62 $95 10 115 198 260 13 180 LHFZ142-11 $ 165 [4-M10x25, 4-M12x35| < $32 81 ¢ 130 10 142 240 337 19.5 219
145 4-M8x20 < §24 62 $110 10 130 205.5 267.5 13 180 $ 200 4-M12x35 <42 83 $114.3 8 180 259 356 21.5 221
145 4-M8x20 < 24 71 $110 10 130 205.5 267.5 20 189 $ 200 4-M12x35 < ¢ 42 115 $114.3 8 180 259 356 53.5 253
$ 90 4-M5x15,4-M6x15 | < ¢ 19 62 $70 7 115 246 260 12 180 $215 4-M12x35 <942 83 $180 8 190 264 361 215 221
¢ 100 4-M6x15 < $19 62 80 7 115 246 260 12 180 $ 130 4-M8x20 < $24 81 $110 10 142 304 401 19.5 219
$115 4-M8x20 < ¢24 62 $ 95 10 115 246 260 13 180 ¢ 145 4-M8x20 < 28 81 $110 10 142 304 401 19.5 219
LHFZ115-L2[ ¢ 130 4-M8x20 < ¢24 62 $ 95 10 115 246 260 13 180 LHFZ142-L2 $ 165 [4-M10x25,4-M12x35| < ¢ 32 81 ¢ 130 10 142 304 401 19.5 219
$ 132 4-M8x20 < ¢ 24 62 ¢ 95 10 115 246 260 13 180 $ 200 4-M12x35 < p42 83 $114.3 8 180 323 420 21.5 221
$ 145 4-M8x20 < ¢ 24 62 $110 10 130 253.5 811545 13 180 ¢$ 200 4-M12x35 < 42 115 $114.3 8 180 323 420 53.5 253
$ 145 4-M8x20 <24 71 $110 10 130 253.5 315.5 22 189 $215 4-M12x35 < ¢p42 83 $ 180 8 190 328 425 215 221
* C1~C1 RATIREDINERRC R, eI RIEE R EREIREM. * Cl~CN RABWRESREERC R S iRIEE R ERBIREM.
* C1~C11 are motor (metric standard) specific dimensions, which could be customised. * C1~C11 are motor (metric standard) specific dimensions, which could be customised,

Y @ @ i w




a LOZ INTELLIGENT TRANSMISSION YA

SMiZRTEZ / OUTLINE DIMENSION SHEET

LHFZ180-L1

HHi/OUTPUT

450

C9

C8

105

20

Cl1

NA-013

LHFZ180-L2

Hdim/OUTPUT

70 6
7 J:I-
S
A 1
I Aty B P 1
I s
o I
I 12
I
r 1‘ T 82
[
[
T T
[ ©
I ©
T
[
| L |
A
S & 3
o
C5y,
9
C8 105
15 20
70 6

=
B | P 1

42

82

0160g6

C6

055, _|

Azs1

B=S2

BN/ INPUT

BNiH/ INPUT

AANDIRERIRC R, TIRER AR A MEM.

*The input motor specific dimensions could be customised.
FEEESEER , EREERATEN

*This drawing is only for reference

$ 165 |4-M10x25 , 4-M12x35

LHFZ180-L1 $200 4-M12x35 <c1>42 118 ¢1143 180 2825 3875 165 2765
$215 4-M14x35 < ¢ 42 118 ¢ 180 10 190 287.5 392.5 16.5 276.5
$235 14-M10x30, 4-M14x35] < 55 150 $ 200 10 220 302.5 407.5 48.5 308.5
$ 130 4-M8x20 <24 81 $110 10 142 322 427 19.5 238
& 145 4-M8x20 <24 81 $110 10 142 322 427 19.5 238

LHFZ180-L2 $165 [4-M10x25, 4-M12x35| < $32 81 $ 130 10 142 322 427 19.5 238
$ 200 4-M12x35 < ¢ 42 83 $114.3 8 180 341 446 21.5 240
$200 [4-M10x25, 4-M12x35| < 42 115 $114.3 8 180 341 446 53.5 272
$215 4-M14x35 < $42 83 ¢ 180 8 190 346 451 2 240

* C1~C1 RABIREDIRERIR R AIRIES PR EIRE.

* C1~C11 are motor (metric standard) specific dimensions, which could be customised,

JMiZRTEZ / OUTLINE DIMENSION SHEET

LHFZ220-L1

HHis/OUTPUT

00220

C9

20

0180g6

LHFZ220-L

HHiH/OUTPUT

018026

1
79.5

AS1

oo | o
$ 200

BS2

C8
20
0290 _
¥ 0250 —
L~
L R L
I
I
=
S I
O !
L 4-017 . l—
[ |
T |
T 8|
[
R
—t-- L]}
T
= G S'
o
5
Cc9
c8
20
<&
imm- - JE (O S
~ O |
5 i
r+o
! L1l
[ H
[
L | 8
T T
” L] ||
II -___T_-'-_ 171
2 = 3
< c5

THE(EEN

N/ INPUT

Oc7

BNiH/ INPUT

CENDRERERZ R, TARIER R B E .

*The input motor specific dimensions could be customised.

FERUFSEER , ERERERBTEN
*This drawing is only for reference

[ e s e e e e o] G

4-M12x35
LHFZ220-L1| ¢215 4-M14x35 < <b42 119 ¢180 356 5 494 5
$235 [4-M12x35, 4-M14x35| < ¢55 119 $ 200 10 220 356.5 494.5 25 334
$ 165 [4-M10x25, 4-M12x35| < ¢ 32 118 $ 130 10 180 372 510 16.5 296.5
LHEZ220-L2 $ 200 4-M12x35 < ¢ 42 118 $114.3 10 180 372 510 16.5 296.5
$215 [4-M12x35, 4-M14x35| < ¢ 42 118 $ 180 10 190 377 515 16.5 296.5
$235 |4-M12x35,4-M14x35| < 55 150 $200 10 220 392 530 48.5 328.5

*C1~C11 27

AHTREDIAERRC R, AIRIES R E K RIRER.

* C1~C11 are motor (metric standard) specific dimensions, which could be customised,

Y @ -




IRERALE,

LGY047. LGYO064, | E E | Dpms: l
LGY090, LGY110, | | i | DXHEERES |
LGY140, LGY200, ! i : . BRRERY :
LGY255 : ! ! ; |
E RIELY E | {5 E
: ggtﬁ 5.7. 10 Do R : PO i
| WER:16. 20, 25, 35, 40, 50, 70, 100 - HBEBRE Pl i
| - IR < P2 !
JTERBIEETE  LGY064-10-P2/# FMSME-042GIU
B : LGY064-10-P2/@14*30/950*3/4-04.5-¢70
_ (4-90°)F
)
=
s
=7
Motor ] NS
- - £
\, [aa]
I\/IE}]F }:Hgé:| § -
otor Label:
DARIS L]
Motor Model: L
D
C OH
SPECIFICATIONS
Motor Flange Motor Flange P.C.D Bore Motor  Actual Length
, Shaft o 9 shaft 1 %,r of D.’ Flange of Backlash
N Dia. 1a Length '9 Bore Q. Square  Motor Shaft
10 LiAMIME DIAMYEIME DiAMKE DAMSsE 1Bg2rl90iE B47ER DYRERST DiEHERK ERER
3 |
o aA(h6) @B(h7) C D oE oF OH L PO/P1/P2



4 21 50 142 285 582 1145 1650
1 5 25 66 176 335 600 1220 1700
7 21 54 145 310 540 1120 1500 - -
10 16 45 122 250 500 620 1250 i Him/OUTPUT i/ INPUT
16 21 50 142 285 582 1060 1600 64
EEHHS1%ET2N  Nominal Nm 20 21 50 142 285 582 1120 1700 16.5 4 19.5
Output Torque ’ 25 25 66 176 335 600 1220 2000 - 5 7 3
5 35 25 66 176 335 600 1220 2000 * U3
40 21 50 142 285 582 1145 1700 rH
50 25 66 176 B35) 600 1220 2000
70 21 54 145 310 540 1120 1800
100 16 45 122 250 500 620 1250 R
AIEHET2NOT BfEEEH H 158 E ] I I
Emergency Stop Torque N.m 1.2 4~100 (3.0 times of Nominal Output Torque) g i TT7115 84355
KNTE H =
Niﬁnﬁﬁﬁﬁi@;e d pm 1. 2 4~100 5000 5000 5000 4000 3000 3000 2000 I
Eil\j,fj?fgfji';;’:jx rpm 1.2 4~100 10000 | 10000 | 10000 | 8000 6000 6000 4000 |
BREZEEPO aremin 1 4~10 <2 <2 <2 <1 <1 <1 <1
Ultraprecise Blacklash 2 16 ~ 100 <4 <4 <4 <3 <3 <3 <3
BEEEP1 arcmin 1 4~10 <4 <4 <4 <3 <3 <3 <3
Precise Blacklash 2 16 ~ 100 <6 <6 <6 <5 <5 <5 <5
TR BEP2 A 1 4~10 <6 <6 <6 <5 <5 <5 <5
Standard Blacklash 2 16 ~ 100 <8 <8 <8 <7 <7 <7 <7
1] 1]
ﬂli”iﬂ] E . N.m_ 1. 2 4~100 6 11 30 84 150 435 1006
Torsional Rigidity /arcmin
= i His/OUTPUT 88 A7/ INPUT
Eilvjlz ?Ra;g?jﬁm izB N 1. 2 4~100 40 120 241 417 1320 3200 5900 iR, 10 . 195 BN,
. b}
?ﬂfﬁg jjl'_:f: dB N 1.2 4~100 960 1800 | 2000 | 4550 6110 | 5300 | 10600 3 - 5.5 - -
- - o3
N=1
Op;ifgg%mp °© 1, 2 4~100 -10° C~+90° C H
ERES 20000
Service Life fr 2 4-100 10000/ BEE T :
&
HEn y 1 4~10 =>97% d dof
Efficiency ° 2 16 ~ 100 >94% g RVAREEEEE
ES< K 1 4~10 0.8 1.2 3.3 7.5 14.6 32.4 -1
Weight 9 2 16 ~ 100 1.1 1.8 4.5 9.2 18.7 37.5
RIEHE 1.2 3100 FEEAE I
mounting Position N Any direction H
Nouiflfvel dBA/1m 1. 2 3~100 60 60 63 65 68 70 73 3.5 so.5
BFR &R
Protection Class s = Sy 222
e b= VoRiebi- o<
Lubrication 1.2 8~100 Synthetic Lubricant

A DIREER R, ATRIEE PR B E
. *The input motor specific dimensions could be customised.
BIRN R AEEUESEER , EBEERABTIEN
*This drawing is only for reference

4 0.04 0.18 0.67 1.66 717 24.92 58.30

5 0.04 0.17 0.65 1.50 6.52 23.42 53.30

1 7 0.04 0.14 0.60 1.45 6.17 22.64 51.02

9 0.04 0.14 0.58 1.41 6.10 22.64 50.96

10 0.04 0.14 0.58 1.41 6.10 22.72 50.55

16 0.04 0.18 0.18 0.65 2.80 7.56 23.22

HahiREJI kg.cm2 20 0.04 0.17 0.17 0.65 2.80 7.56 23.22
Inertia : 25 0.04 0.17 0.17 0.65 2.80 7.56 23.22
35 0.04 0.14 0.14 0.60 2.59 7.56 23.22

2 40 0.04 0.14 0.14 0.60 2.59 7.06 22.51

50 0.04 0.14 014 | o058 | 254 7.06 22.51

70 0.04 0.14 0.14 0.58 2.54 7.06 22.51

90 0.04 0.14 014 | o058 | 254 7.06 22.51

100 0.04 0.14 0.14 0.58 2.54 7.06 22.51




Hii®H/OUTPUT o N/ INPUT Y /OUTPUT 0 N/ INPUT

25.5 _4_19.5 28 7 30
1l |2 3 8| [0 6
c8 cs ocr
b 1
. n B | A d ] d
3 L L A H=[-dE=2] S 3 | 5 8 i) H4AE-F S 2 &l S =
g ' S EEER g CEEEE
c6
4
Ay Ay s
i/ OUTPUT e AR/ INPUT tHHi%/OUTPUT o SN/ INPUT
52.5 1 _19.5 s 7 %0
(Al 3 8| |10 6
cs .
=, -
<t u — -
[
! {
® n 8 . o~ _: | 112 J
S LI I LA - S| o] o = 8 = - S wl g 9 4 »
: _- EEEE SEEEINT S S
@) =
& 1
) | B { ﬁ

C6

C6

C4

C4

PN DIREEIRZ R, ATiRIEE AR BN EM .
*The input motor specific dimensions could be customised.
e b . *AEUESEER , EHENRABTIEN
AADIREERZ R, IRBEEFERBIMEN. *This drawing is only for reference
*The input motor specific dimensions could be customised.

*AEUFSEER , EREREABTEN
*This drawing is only for reference
b 90 4-M5x15,4-M6x15 < $24 47 ¢ 70 6 90 7 106
$98.4 4-M5x15,4-M6x15 <14 47 $73 6 90 7 106
¢ 100 4-M6x15 < $24 47 ¢ 80 6 90 7 106
LGY090-L1 b 115 4-M6x20,4-M8x20 < 24 59 $ 95 11 100 19 118
$ 130 4-M8x20 < 24 59 b 95 11 115 19 118
b 145 4-M8x20 = 24 59 $110 11 130 19 118
b 145 4-M8x20 < $24 70 $110 11 130 30 129
b 46 4-M4x10 <8 35 $ 30 5 60 5.5 79.5 & 70 4-M4x10,4-M5x10 < $14 35 $ 50 5 60 515 118
LGY0B4-L1 $66.7 4-M4x10 <8 85 ¢ 38.1 D) 60 i) 79.5 $ 90 4-M5x15,4-M6x15 < $24 47 ¢ 70 6 90 7 139.5
$70 4-M4x10,4-M5x10 <d14 35 $ 50 5 60 5.5 79.5 $98.4 4-M5x15,4-M6x15 < d14 47 $73 6 90 7 139.5
b 75 4-M4x10,4-M5x10 < d14 35 $ 60 5 66 5.5 79.5 LGY090-L2 $ 100 4-M6x15 < 24 47 ¢ 80 6 90 7 139.5
b 46 4-M4x10 <¢8 35 b 30 5 60 5.5 106.5 b 115 4-M6x20,4-M8x20 < $24 59 b 95 11 100 19 151.5
LGY064-L2 $66.7 4-M4x10 <8 35 ¢ 38.1 B 60 BB 106.5 b 130 4-M8x20 < 24 59 b 95 11 115 19 151.5
$70 4-M4x10,4-M5x10 <d14 35 $ 50 5 60 5.5 106.5 b 145 4-M8x20 < $24 59 $110 11 130 19 151.5
b 75 4-M4x10,4-M5x10 <d14 35 $ 60 D) 66 5.5 106.5 b 145 4-M8x20 < 24 70 $110 11 130 30 162.5
* C1~C9 BATIREDIAMERIRZ R, IRIEE P EREIREM. * C1~C9 RABIREDRERRE R, AIRIES PR ERIREM.

* C1~C9 are motor (metric standard) specific dimensions, which could be customised, * C1~C9 are motor (metric standard) specific dimensions, which could be customised,



HHis/OUTPUT Nim/ INPUT HHiH/OUTPUT HIANIR/ INPUT

9
a7 8 929 Oct 59 10 38
10 |0 6 12| o 6 oc7
s o8
= ——1H
|
| ge
i =7 | i ™~ 12 -
sl 4 g[ Jrrao U b -1 o o g S| 2 2 -1t gl g g 5 €
= © (I [ o I 3| & 2 = = = SR = = @
|
: ' =4
: |
c6
c4
Him/OUTPUT N/ INPUT tHHiR/OUTPUT s/ INPUT
c9 c9
37T __8 29 59 1038
10| |10 6 X
8 o8 12] A 6 0c7
| il
- 1
|| d ! g S
5 ‘_':" -k SRR ! 12 d =
8| 4 3l -te-t-dh---¢FFthttE-1 < 2| 2] S| 2 S oAel Lo Hel o o 2
5l 8 _ELO___ HE R gSUL'_L{_'Z EEIIAIEEEEE
! { [ | O
i
m ] ' | XS
i i |
6
c6
c4
c4
A DIREERZ R, ATRIEE A E R IR E M A DIREERZ R, ATRIEE A E K B E M
*The input motor specific dimensions could be customised. *The input motor specific dimensions could be customised.
CRELRUESEER , HRESEABTIEN CRESESEER , HRENEABTIEN
*This drawing is only for reference *This drawing is only for reference
115 4-M6x20,4-M8x20 < ¢$24 61 b 95 11 115 17 132
$ 130 4-M8x20 < $24 61 b 95 11 115 17 132
LGY110-LT $ 145 4-M8x20 < ¢$24 64 $110 11 130 19 135
$ 145 4-M8x20 < ¢$24 71 $110 11 130 26 142 $ 145 4-M8x20 < 24 81 $110 10 142 19.5 174
$ 90 4-M5x15,4-M6x15 < ¢19 47 670 6 90 7 154 LGY140-L1 b 165 4-M10x30 < $28 81 $ 130 10 142 19.5 174
115 4-M8x20 < 24 59 b 95 11 115 19 166 $ 200 4-M12x35 < p42 83 $114.3 8 180 21.5 176
LGY110-L2[ ¢ 130 4-M8x20 < ¢24 59 b 95 11 115 19 166 b 145 4-M8x25 < $24 65 $110 11 142 20 199
$ 145 4-M8x20 < $24 59 $110 11 130 19 166 LGY140-L2| ¢ 165 4-M10x30 < $28 65 ¢$ 130 10 142 20 199
$ 145 4-M8x20 < ¢24 70 110 11 130 30 177 $ 200 4-M12x35 < $p42 83 $114.3 8 180 21.5 239.5
* C1~C9 RAHIRNEDIAEERC R AIiREE P EKRIREM. * C1~C9 BABIRNESREER R, AIiRiEE P EKERIREM.

* C1~C9 are motor (metric standard) specific dimensions, which could be customised, * C1~C9 are motor (metric standard) specific dimensions, which could be customised,



N/ INPUT HitHis/OUTPUT NI/ INPUT

o

HtHim/OUTPUT
9 9
9.5 12 50 91.5 I8 66
15| |15 8 ocr 20| [20 12 oOc7
8 8
. -
- 2 & | %
: O 16 : Q I-H--
ol s Tu-_ N S i I g def 1-r--f AN ] o g ¢
|
’ = ’ =
|
| H
% c6
c4 c4
§tHis/OUTPUT BN/ INPUT HitHis/OUTPUT HINi/ INPUT
c9
c9
88.5 18 66
79.5 2_ 50 20 o 12
19 115 8 8
C8 oc7 oc7
i l 1Ol | 1 1.
|| AR — o B EE L A N SO I
S mg[ I IR0 A I I I g8 - EEEEE
g _:_' Iy I Sl s g § © |
| —
| E - —
| _ I
c6 c4
c4
A DIREERZ R, ATRIEE A E R IR E M A DIREERZ R, ATRIEE A E K B E M
*The input motor specific dimensions could be customised. *The input motor specific dimensions could be customised.
CRELRUESEER , HRESEABTIEN CRESESEER , HRENEABTIEN
*This drawing is only for reference *This drawing is only for reference
b 165 4-M10x25 < $ 32 86 $ 30 10 180 16.5 204
b 200 4-M12x35 < $42 86 $114.3 10 180 16.5 204
LGY200-L1 $ 200 4-M12x35 < 42 118 $114.3 10 180 48.5 236
215 | 4-M12x35,4-M14x35| < 42 86 $ 180 10 190 16.5 204 $ 200 4-M12x35 < ¢42 119 $114.3 10 220 27 262
$235 [4-M10x30, 4-M14x35 < 55 118 $ 200 10 220 48.5 236 LGY255-L1 $215 4-M14x35 < ¢42 119 ¢ 180 10 220 27 262
b 145 4-M8x20 < $24 81 110 10 142 19.5 264 $235 |4-M12x35, 4-M14x35 < ¢ 55 119 $ 200 10 220 27 262
b 165 4-M10x30 < ¢$28 81 $ 130 10 142 19.5 264 165 |4-M10x25, 4-M12x35 < ¢ 32 118 b 130 10 180 16.5 319
LGY200-L2 $ 200 4-M12x35 < $42 83 $114.3 8 180 21.5 266 LGY255-L2 $ 200 4-M12x35 < ¢42 118 $114.3 10 180 16.5 319
$200 |[4-M12x35,4-M14x35| < 42 115 $114.3 8 180 53.5 298 215 |4-M12x35, 4-M14x35 < 42 118 ¢ 180 10 190 16.5 319
$215 4-M14x35 < 42 83 $ 180 8 190 21.5 266 $235 |4-M12x35, 4-M14x35 < ¢ 55 150 ¢ 200 10 220 48.5 351
* C1~C9 RAHINEDIAEERC R AiREE P EKRIREM. * C1~C9 BABIRNESREER R, AIiREE P EKRIREM.

* C1~C9 are motor (metric standard) specific dimensions, which could be customised, * C1~C9 are motor (metric standard) specific dimensions, which could be customised,



BISi5EE / MODEL ILLUMINATE

D [ (IR ) TSI i

| LGYZ047. LGYZ064 | i i | DES: !
' LGYZ090, LGYZ110 | i 0 | DABEBRES |
© LGYZ140, LGYZ200 ! , H | BRRERY :
| LGYZ255 i ; ; 1 |
: P e :
| OREEL © o e i
| OBE:4.5.7.10 - ﬁﬁfﬁﬁ.Po :
| WWER : 16, 20, 25, 35, 40, 50. 70, 100 b Emh : P1 !
| oo IR : P2 ;
ITHBISIETE © LGYZ064-10-P2/FA FMSME-042GIU
B : LGYZ064-10-P2/¢914*30/950*3/4-p4.5-970
O FILLIN DATA OF MOTOR EFRIESEH
—_ (4-90°]§Z§F
%)
<
$
gk
Motor ] =
. ) E
= INE 13
Motor Label: I
DkRE - -
Motor Model: L
D
c OH
> $1% SPECIFICATIONS
Motor Flanae Motor Flange P.C.D Bore Motor  Actual Length
Shaft 9 Shaft 9 of Flange of Backlash

Dia. Lz, Length peial Bore Lzl Square  Motor Shaft

DRMOME DREIME DkEKE DIANSEE BarlfuoiE B4 ER DRERY DikEERNK BERER

gA(he)  @B(h7) C D oE oF OH L PO/P1/P2




1o R ERRE SR

se=ft o L3 I A r=
miE s / GEAR BOX PERFORMANCE INFORMATION SMEZR~TEZ / OUTLINE DIMENSION SHEET
#HSpecifications | B {izunit [t §Stagd 1 bk Ratio |LGYZ047 LGYZ064|LGYZ090|LGYZ110LGYZ140|LGYZ200|LGYZ255
4 21 50 142 285 582 1145 1650 LGYZ047-L1
5 25 66 176 335 600 1220 1700
7 21 54 145 310 540 1120 1500 . .
1 8 21 50 142 285 582 1145 1650 HHim/OUTPUT N/ INPUT
10 25 66 176 335 600 1220 1700 =
14 21 54 145 310 540 1120 1500 Lt
20 16 45 122 250 500 620 1250 i 2 o3
HMEWLAET2N Nominal | | 16 21 50 142 285 582 1145 1650 3
Output Torque ‘ 20 21 50 142 285 582 1145 1650 I
25 25 66 176 335 600 1220 1700 )
35 25 66 176 335 600 1220 1700 N
2 40 21 50 142 285 582 1145 650 PR ) e TR _ﬁw 3 da
50 25 66 176 335 600 1220 1700 ! EEEE
70 25 66 176 335 600 1220 1500 o ! =} )
80 21 50 142 285 582 1145 1650 !
100 25 66 176 335 600 620 1250 T ! I
212 H4%ET2NOT N 1.2 4-100 SFEENE it 148 @ T 046
Emergency Stop Torque ’ N (3.0 times of Nominal Output Torque) | | 1
= S I T 5|
RN FEIENT rpm 1. 2 4-~100 5000 5000 5000 4000 3000 3000 2000 ! O
Nominal Input Speed \ 1<
= ; ' [os |
BAMA R 1 max rpm 1,2 4~100 | 10000 | 10000 | 10000 | 8000 | 6000 | 6000 | 4000 “ 0 -
Max.Input Speed
BEZEEEKPO aremin 1 4~10 <5 <5 <5 <5 <5 <5 <5
Ultraprecise Blacklash 2 16 ~ 100 <8 <8 <8 <8 <8 <8 <8
EEERP1 aremin 1 4-~10 <7 <7 <7 <7 <7 <7 <7
Precise Blacklash 2 16 ~ 100 <10 <10 <10 <10 <10 <10 <10
IR BRP2 ) 1 4~10 <9 <9 <9 <9 <9 <9 <9 HHim/OUTPUT " fiNim/ INPUT
Standard Blacklash aremin 2 16~ 100 <12 <12 <12 <12 <12 <12 <12 s
R N.m ) NIE s
Torsional Rigidity Jaremin 1, 2 4-~100 6 11 30 84 150 435 1006 , o3
=
BAE i 15EM2KB N 1. 2 4-100 40 120 241 417 1320 | 3200 | 5900 I
Max.Radial Load
HiFHhim 7 F2aB N 1.2 4-~100 960 1800 2000 4550 6110 5300 10600
Max.Axial Load
- 1 1/ /|¥ U/ el s oo I A P I I I
Ll °C 1.2 4~100 -10° C~+90° C ! ggé“é@
Operating Temp : o
fERE 20000 2 i
Service Life hr .2 4~100 (10000/ 455 %5) i
R o 1 4-~10 =>95% L H
Efficiency ° 2 16 ~ 100 =92% | i ! i
=E B 1 4-~10 1.0 1.6 35 7.8 15.0 455 68.7 Lt 5
Weight 9 2 16 ~ 100 1.3 2.2 4.8 9.5 19.1 40.8 72.6 ! L*}O
REF EEAE Fft{
mounting Position 1.2 SSULY Any direction 2 I@'%l gl
=
Noﬂia:;'fvel dBA/Im | 1.2 3-~100 63 63 68 70 70 72 75
B4R 1.2 3-100 Ip65 CMADISERT L R, TRIEEFEREIMER.
Protection Class N *The input motor specific dimensions could be customised.
i 1.2 3-100 ES= RN FEERUFSERR , EBESEARBITEN
Lubrication N Synthetic Lubricant *This drawing is only for reference
IR EZANRE
Hi& Specifications | B {izunit [T541Stage 18 bk Ratio [LGYZ047|LGYZ064|LGYZ090|LGYZ110|LGYZ140|LGYZ200|LGYZ255
4 0.18 0.67 1.66 717 24.92 58.30
. 5 0.17 0.65 1.50 6.52 23.42 53.30
R 7 0.14 0.60 1.45 6.17 22,64 51.02
Ine”;i kg.cm2 8/10/14/20 0.14 0.58 1.41 6.10 22,64 50.96
16/20/25 0.18 0.18 0.65 2.80 7.56 23.22
2 35/40 0.14 0.14 0.60 2.59 7.56 23.22
50/70/80/100 0.14 0.14 0.58 254 7.06 2251

Y s @ v € i w




1o R ERRE SR

SMiZRTEZ / OUTLINE DIMENSION SHEET SMiZRTEZ / OUTLINE DIMENSION SHEET

9 Cc9

) Hi%/OUTPUT N/ INPUT ) Hi%/OUTPUT % HINif/ INPUT

81 {10 6 ocr

)|
0

iz}

020,
040,
063. 2
064,

086

_,
1
1
1
1
1
1
1
1
1
1
T
|
T
M
77){77\
| ’E
T
031. 5,
063,
089. 2
090,
0118

C10

O

-

c8
2
C6
C8
O
B¢
C6

|

LGYZ064-L2 LGYZ090-L2

C9

HiHiR/OUTPUT £ s/ INPUT HiHiR/OUTPUT 28 7 30 HBINiH/ INPUT
4_19.5 5 . 8| [10 6
= > 0oc?
0c7 O 7-M67£13. 5
€t " N
. 2] o
e | 1S EEEFEE : : _ A ERNIREEEEE
! (=] : 5 i =
I !
: 1L T — L
I [
T T 3
—— i & s |
I 3 T
O ' . o |4 OADEERIRZ R, TREZAERSREN.
- -‘g—'ﬂ--- 5. *The input motor specific dimensions could be customised.
- . : KEGFSEER , EEENERETEN
< *This drawing is only for reference

co
6.5 158.5

DR R, TARE SR A, $70 4-M4x10,4-M5x12 < ¢14 47 $ 50 4 90 145.5
*The input motor specific dimensions could be customised. 975 4-M4x12,4-M5x12 | < ¢ 14 47 $ 60 55 90 6.5 158.5 1455
R EUHUESEE | SRR B TEA $ 90 4-M5x15,4-M6x15 <$19 47 $ 70 7 90 7.5 158.5 145.5
*This drawing is only for reference $98.4 | 4-M5x154-M6x15 | <414 | 475 373 7 90 7.5 1585 | 1455
LGYZ090-L1 ¢ 100 4-M6x15 <$19 47.5 $ 80 7 90 12.5 158.5 145.5
$ 115 4-M8x20 < 24 59 $ 95 10 100 12.5 163.5 157.5
$ 130 4-M8x20 < 24 59 $ 95 10 115 12.5 171 157.5
b 145 4-M8x20 < $24 59 110 10 130 12.5 178.5 157.5
b 145 4-M8x20 < $24 68 110 10 130 21.5 178.5 166.5
3 RS R [ B R R R
$ 46 4-M4x12,4-M5x12 <¢8 37.5 $ 30 10.5 60 11.5 115 116 $ 75 4-M4x12,4-M5x12 < ¢14 32 $ 60 5 66 6 156.5 122.5
LGYZ064-L $66.7 4-M4x12 <¢8 32 $ 38.1 5| 60 6 115 110.5 $ 90 4-M5x15,4-M6x15 < $19 47 $70 7 90 7.5 192 145.5
$70 4-M4x10,4-M5x12 < ¢ 14 32 $ 50 5 60 6 115 110.5 $98.4 4-M5x15,4-M6x15 < ¢ 14 47.5 $73 7 90 7.5 192 145.5
b 75 4-M4x12,4-M5x12 < 14 32 $ 60 5} 66 6 118 110.5 LGYZ090-L4 ¢ 100 4-M6x15 <¢19 47.5 $ 80 7 90 12.5 192 145.5
$ 46 4-M4x12,4-M5x12 <¢8 37.5 $ 30 10.5 60 11.5 142 116 $ 115 4-M8x20 < $24 59 $ 95 10 100 12.5 197 157.5
LGYZ064-L4 $66.7 4-M4x12 <¢8 32 ¢ 38.1 5 60 6 142 110.5 130 4-M8x20 < ¢24 59 $ 95 10 115 12.5 204.5 157.5
70 4-M4x10,4-M5x12 < ¢14 32 $ 50 5 60 6 142 110.5 & 145 4-M8x20 < d24 59 & 110 10 130 12.5 212 157.5
b 75 4-M4x12,4-M5x12 < ¢ 14 32 $ 60 5] 66 6 145 110.5 b 145 4-M8x20 < $24 68 $110 10 130 21.5 212 166.5
* C1~C10 BAHIMVEDIRERE R R IR S P Ek b, * C1~C10 EAHIRNEDIAERIRZ R, AIiREE P 2SRRI,
* C1~C10are motor (metric standard) specific dimensions, which could be customised, * C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y @ B B . -




1o R ERRE SR

SMiZRTEZ / OUTLINE DIMENSION SHEET SMiZRTEZ / OUTLINE DIMENSION SHEET

#iHis/OUTPUT 9 N/ INPUT #iHis/OUTPUT 9 i Nis/ INPUT
8 _29 10 38
10] [t 6 Ocr . 6 oc?
—————————— L-Hit44d-1 =l 5| 2| g 2 I [
o |
S : =
I
o H
[ v ]
I . I _
[ O
L 1'0
===-=-- ~T-|-"-"--- T
8 o] 8
C5;:
LGYZ110-L2 LGYZ140-L2
#iHis/OUTPUT 0 N/ INPUT #iHis/OUTPUT o AR/ INPUT
37 __8 29 59 10 38
0
10] [10 6 oot 3 - RE] | % 6 o
——H -7 S 11-M8ER17
{ 7z N
// \ ! / N
[ WR b 080 { &
% 2| 4L ,” @ \| 12-06.6 L o
________ — g~ -1t gl 2 = B _ _ ek . AL L L L & S gl
_ i SEEER @ o r t NMEEEEE
= ! [ L\ 4 f018 = 1 =
I ¢ SA 7 S\
: QN < 9 ! g .
rToT i \\ / ] \ // I_‘I_ - |
[ LA 0. | [>F [ o [ ] s
L s Reog-oc2 — e
—|— T il IQ—|— 3 : | .:L | —*o
i g : =t
® C3 s ! o C3 8'
N C5y.
Chu ENDIAERR R, AIRIEE P EK BN E M.
*The input motor specific dimensions could be customised.
RGPS | ARSI CBADRERRZRT, TRERSAERBMEY.
*This drawing is only for reference *The input motor specific dimensions could be customised.
*AEEUFSEER , BEESRABTEN
*This drawing is only for reference
o7
$ 90 4-M5x15,4-M6x15 < ¢19 62 $70 7 115 12 200 183
$ 100 4-M6x15 < $19 62 $ 80 7 115 12 200 183
LGYZ110-L1| ¢ 115 4-M8x20 <24 62 $ 95 10 115 13 200 183
wias | aWee0 | =eee | 62 [ w10 | 0 | w0 | 15 [ eors [ e e
$ 145 4-M8x20 < d24 71 $110 10 130 13 207.5 192 b 145 4-M8x20 < $28 81 $ 110 10 142 19.5 256 226
$ 90 4-M5x15,4-M6x15 <19 47 $ 70 7 90 7.5 206.5 158 LGYZ140-L $ 165 [4-M10x25, 4-M12x35 < ¢ 32 81 $ 130 10 142 19.5 256 226
$ 100 4-M6x15 < $19 47 $ 80 7 90 7.5 206.5 158 $ 200 4-M12x35 < $42 83 $114.3 8 180 21.5 275 228
LGYZ110-L4 ¢ 115 4-M8x20 < 24 59 $ 95 10 115 12.5 219 170 $ 200 4-M12x35 < $42 115 $114.3 8 180 5815) 275 260
$ 145 4-M8x20 <24 59 & 110 10 130 12.5 226.5 170 LGYZ140-L4 b 145 4-M8x25 < $24 62 $ 110 10 142 13 271.5 198.5
$ 145 4-M8x20 < d24 68 $ 110 10 130 21.5 226.5 179 b 165 4-M10x30 < $28 62 $ 130 10 142 13 271.5 198.5
* C1~C10 BAHIMVEDIRERE R R IR S P 2K e, * C1~C10 ERHINEDIAERIRZ R AIiRIEE P 2SR IR,
* C1~C10are motor (metric standard) specific dimensions, which could be customised, * C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y @@ w




1o R ERRE SR

SMEZR~TEZ / OUTLINE DIMENSION SHEET SMEZR~TEZ / OUTLINE DIMENSION SHEET
LGYZ255-11

iHim/OUTPUT o N/ INPUT igHim/OUTPUT AR/ INPUT
1250 £
18 66
| 2 e X 20| |20 12 oct
O 212178 10 ]
L1 MI6E30
& g &
. 2140 N
sl 5 & .
— SRR : &) —
1 SRS S =] =z = g g §
_ | @) _ |
- | A s | z .
T :
R | - il
— IR |
IR | — .
| T 1 Lo
| [ | ______::_____
| —--4-£34--- T ]
. o - = 3 g
C5, Chee
LGYZ200-L2 LGYZ255-L2
i HHiR/OUTPUT i HHiR/OUTPUT AR/ INPUT
HINI®/ INPUT o
9
88.5 18 _ 66
B A 20[ |20 12
15| |15 8 3 ]
] 0ct
/) :
& . BN EERAVS s I I 1 2 o e v )P R | ||| NN I
________ NI ___g__gg; g = o o] ! EEEE
of | EEEE N - |
i SN =
SIS < T LD
. | ==
T T - Hl
=h o]
|"““+"1'“"l_| = c3 3
Y cs

C5p,
TANDIRERRC R, AIIREE AR R MEM. PAANDIRERRC R, TIREE P EREMEM.
*The input motor specific dimensions could be customised. *The input motor specific dimensions could be customised.
AEMFSEER , EREREARSTIEN AEMRFSEER , EREREARSTIEN
*This drawing is only for reference

*This drawing is only for reference

118 10 180 16.5

& 165 [4-M10x25, 4-M12x35 < ¢ 32 b 130 . 306.5 291.5

$ 200 4-M12x35 < $42 118 $114.3 10 180 16.5 306.5 291.5

$235 |4-M10x30, 4-M14x35 < ¢ 55 150 $ 200 10 220 48.5 326.5 323.5 $ 200 4-M12x35 < $p42 119 $114.3 10 220 27 403 358.5

& 130 4-M8x20 < $24 81 & 110 10 142 19.5 346 254 LGYZ255-L1 &215 4-M14x35 < $42 119 b 180 10 220 27 403 353.5

$ 145 4-M8x20 < $24 81 110 10 142 19.5 346 254 $235 [4-M12x35, 4-M14x35 < ¢ 55 119 $ 200 10 220 27 403 353.5
LGYZ200-L2 165 [4-M10x25, 4-M12x35 < ¢ 32 81 $ 130 10 142 19.5 346 254 165 |4-M10x25, 4-M12x35 < ¢ 32 118 $ 130 10 180 16.5 421.5 314

$ 200 4-M12x35 < $42 83 $114.3 8 180 215 365 256 LGYZ255-L4 ®200 4-M12x35 < $42 118 $114.3 10 180 16.5 421.5 314

200 [4-M10x25, 4-M12x35] < 42 115 $114.3 8 180 53.5 365 288 215 |4-M12x35, 4-M14x35 < ¢ 42 118 & 180 10 190 16.5 426.5 314

$ 215 4-M14x35 < 42 83 ¢ 180 8 190 21.5 370 256 $235 [4-M12x35, 4-M14x35] < ¢ 55 150 200 10 220 48.5 441.5 346

* C1~C10 BAHIMNEDIRERE R R, TR S P EK I, * C1~C10 BAHIRNEDIAERIRZ R AIiRiEE P ESRK IR,
* C1~C10are motor (metric standard) specific dimensions, which could be customised, * C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y i @ . w




TREHLA, - A
LSN060, LSN090
LSN120, LSN160 S2: [

1

1
o |
I |
; H S1: FiEH ;
: : l
L |

1

1

1

SER : 12, 15, 20, 25, 30, 35, 40
50, 70. 100

ITHEBISIETE © LSN060-10-52-P2/#A RMSME-042GIU
& : LSN060-10-52-P2/(p14*30/950*3/4-p4.5-¢70

)
=
8
ik i
_I\/IOTor — E
NE?E{T%:I n -8
oT1or Lapel:
CARIS - -
Motor Model: |
D
C
SPECIFICATIONS
Motor Fl Motor Fl P.C.D B
Sharft g.”ge Sharft HO.”%? of que
Dia. 'a. Length €9 Bore 'a.

DiksME Dok h&sMz

2A(h6) 2B(h7) C D ok aF

DREKE DaNEsE BarlduiiE BLILER

1

1

1
b |
! | DRms: .
0 | DEHEERES |
! | DRRERY :

1

5 ] :

1
___I _____________________ '
1
EhE !
BRI : PO !
mEEE Pl !
T P2 :
1

(4-90°)aF

OH
Motor  Actual Length
Flange of Backlash
Square Motor Shaft
F OEERY DRHEREK BRER
OH L PO/P1/P2



P</  ozmieieewtimaNswsson et

FENEEEZEF] / GEAR BOX PERFORMANCE INFORMATION

60
3 32.6 95.2 283 482
4 30.1 74.6 249 490
1 5 32.3 95.2 283 473
7 30.9 85.6 219 400
10 25.0 75.0 210 320
12 32.6 95.2 283 482
R 15 32.6 95.2 283 482
%ﬂmﬁé’u’tﬂ F14ET2N N.m 20 30.1 74.6 249 490
Nominal Output Torque
25 32.3 95.2 283 473
5 30 32.3 95.2 283 473
35 32.3 95.2 283 473
40 32.3 95.2 283 473
50 32.3 95.2 283 473
70 30.9 85.0 219 400
100 25.0 75.0 210 320
21 /15ET2NOT Nom 1. 3100 BIEENE Hi HH S1%4E
Emergency Stop Torque i N (3.0 times of Nominal Output Torque)
N gﬁ?ﬁ%)\%ﬁm rpm 1. 2 3~100 3000 3000 2500 2000
ominal Input Speed
BAMNFIEN 1 max rpm i, 2 3-~100 6000 6000 5000 4000
Max.Input Speed
BEEEERPO ) 1 3~10 - - =3 =3
Ultraprecise Blacklash aremin 2 12 ~100 - - =<5 <5
TEE Y EP1 ) 1 3~10 - <6 <5 <5
Precise Blacklash aremin 2 12 ~100 - <9 =7 =7
tREBEREP2 . 1 3~10 12 <9 <7 <7
Standard Blacklash aremin 2 12~ 100 <15 =12 =9 =9
*.'H%ml[‘.i. . N.m. 1.2 3~100 2.6 7.5 15.5 30
Torsional Rigidity /arcmin
FiFEmEAF2B
Max.Radial Load N 1. 2 3~100 889 1630 3380 6450
BiFHE 7 F2aB N 1, 2 3~ 100 850 1420 2930 5510
Max.Axial Load
& A °c 1, 2 3-~100 -10° C~+90° C
Operating Temp
Eﬁﬁ_ﬁﬁ' hr 1. 2 3~100 5 ‘_20’000. . .
Service Life (10,000/3% ££ 1= % continiu operationg)
R o 1 3~10 =96%
Efficiency ° 2 12~100 =92%
- K 1 3~10 1.3 3.0 7.3 15.6
Weight 9 2 12~ 100 2.0 5.0 115 20.7
RIEFE EEAME
mounting Position B 1.2 3~100 Any direction
RRE
X dBA/1m 1. 2 3~100 60 65 65 70
Noise Level
Bh P& LR
Protection Class B 1.2 8~100 P65
piEh= 1.2 3-100 & & REE SR
Lubrication N Synthetic Lubricant
RN IR E
3 0.25 0.81 2.2 7.89
4 0.18 0.65 1.8 5.83
1 5 0.16 0.62 1.61 5.83
7 0.14 0.60 1.55 5.22
10 0.14 0.60 1.53 5.20
12 0.16 0.62 1.61 5.83
- 15 0.16 0.62 1.61 5.83
ﬁﬂ'ﬁi“ kg.cm® 20 0.16 0.62 1.61 5.83
25 0.16 0.62 1.61 5.83
> 30 0.14 0.60 1.55 5.22
35 0.14 0.60 1.55 5.22
40 0.14 0.60 1.55 5.22
50 0.14 0.60 1.55 5.22
70 0.14 0.60 1.53 5.20
100 0.14 0.60 1.53 5.20

SMiZRTEZ / OUTLINE DIMENSION SHEET

LSNO60-L1

HiHim/OUTPUT i/ INPUT
9
c8 35
3
(el 1
i
1 25 2.5
I E
- 1 O ) R [
s © "T':' """ CTTTTTT it Al s =" gl &
T 12.5
! 31
I
]
4-M5¥R10 w 4
LSNO060-L2
HHiw/OUTPUT ¢ HiNim/ INPUT
c8 35
3
(a} )
i
1 25 2.5
I
E I o | A = .
i — e B
: 12.5
| 31
I
]
4-M5UK10 « o

i H4072/Output Diameter

RS 8=(S2

¢ 30 60 81 116

ENDIRERERZ R, ATARER P EREMEM.

*The input motor specific dimensions could be customised.

AEMFSEER , EREREARSTIEN
*This drawing is only for reference

$ 46 4-M4x10 < ¢8 34 5 9
LSNO60-L1| $66.7 4-M4x10 <8 34 ¢$38.1 5 60 81 116 8
$70 4-M4x10,4-M5x12 < ¢14 34 ¢ 50 5 60 81 116 9
$ 46 4-M4x10 <8 34 $ 30 5 60 137.5 172.5 9
LSN060-L2| $66.7 4-M4x10 < ¢8 34 ¢ 38.1 5 60 137.5 172.5 8
& 70 4-M4x10,4-M5x12 < ¢14 34 50 5 60 137.5 172.5 9

* Cl~CIORAHIRESIAERIRZ R AIMRIES PR R REH.

* C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y —_ei it rti’ifhllli il 8B w




P</  ormecentrmansmisson Al 7

SMiZRTEZ / OUTLINE DIMENSION SHEET SMiZRTEZ / OUTLINE DIMENSION SHEET

LSNO090-L1 LSN120-L1

HHiR/OUTPUT AR/ INPUT HHim/OUTPUT N/ INPUT
9 co
c8 40
3 0cr e 1 =
o 10 1
N -
! P 4 L | 40 5
| . —
1 = 1 ]
Aol -Fra------ I S Y e = 4.1 [0 : =Tl 4 S
I - I S TR g ¢
i 36 - é? i 50[.2.
=N i
c6
4-M6¥R 12 I 4 AMIOBE20 o [ o
LSN090-L2 LSN120-L2
HHiR/OUTPUT 9 AR/ INPUT HHiR/OUTPUT el N/ INPUT

C8 C8

acr

— |
o
IS &
S
'01

4

11 = 5| - 4 <

e R S A —--H--EE o @ R R CTEH I
T 16.5 22
i 36 50
1

6
4-M6 12 I 4

HyH4m/2/Output Diameter

ME*1P

6
A

L]
22.5

J’;‘ EADRERT L R, TREEAER LM, ‘ J’;} DRI R, TRBEAERLMEH.
*The input motor specific dimensions could be customised. " " *The input motor specific dimensions could be customised.

*AEUFSEER , EEEXOABTEN *REUFSEER , BEESOABITEN
AIKS1 RS2 *This drawing is only for reference *This drawing is only for reference

s e e e e e e Fer e e en ]
90

$ 70 4-M4x12,4-M5x12 <14 $ 50 6
b 75 4-M4x12,4-M5x12 < ¢14 46 $ 60 55 90 100 140 6
$ 90 4-M5x15,4-M6x15 < ¢19 46 $ 70 7 90 100 140 7
LSNOSO-L1 | 166 T s-wxis [ =ato | 6 | 480 | 7 T 90 [ o0 | a0 | 7 R _--------
& 115 4-M8x20 < 24 61.5 $ 95 10 100 100 140 12.5 b 90 4-M5x15,4-M6x15 <619
& 145 4-M8x20 < $24 61.5 $ 110 10 130 100 140 12.5 LSN120-L1 $ 100 4-M6x15 < ¢19 485 <]>80 115 153 208
$ 70 4-M4x12,4-M5x12 < ¢14 46 $ 50 4 90 119 159 6 $ 115 4-M8x20 < $24 58 $ 95 10 115 153 208 11.5
& 75 4-M4x12,4-M5x12 < 14 46 $ 60 55 90 119 159 6 ¢ 145 4-M8x20 = d24 59 $110 10 130 153 208 12.5
LSNO90-L2 $ 90 4-M5x15,4-M6x15 <19 46 70 7 90 119 159 7 $ 90 4-M5x15,4-M6x15 < ¢19 48.5 $ 70 7 115 180 235 7
$ 100 4-M6x15 <$19 46 $ 80 7 90 119 159 7 LSN120-L2 $ 100 4-M6x15 < $19 48.5 $ 80 7 115 180 235 7
b 115 4-M8x20 <24 61.5 $ 95 10 100 119 159 12.5 ¢ 115 4-M8x20 < ¢ 24 58 b 95 10 115 180 235 11.5
& 145 4-M8x20 < ¢24 61.5 & 110 10 130 119 159 12.5 b 145 4-M8x20 < $24 59 $ 110 10 130 180 235 12.5
* C1~C10 ERHIRESIKER R R, A RIEE P EREIREM., * C1~C10 ERAHIRESIKERS R R, I RIEE P EREIREM.
* C1~C10are motor (metric standard) specific dimensions, which could be customised. * C1~C10are motor (metric standard) specific dimensions, which could be customised,

R D v R o




TeFEHE(E D]

a LOZ INTELLIGENT TRANSMISSION

SMiZRTEZ / OUTLINE DIMENSION SHEET

LSN160-L1

iHHIR/OUTPUT B/ INPUT
9
8 87
5
c1o ;
q
! & |
1 E
i P i ______: 1= S| 2
ol "‘I'T """ [N e | e =
Tt 36
| 82
1
1
4M12i%22 w1 o
LSN160-L2
Him/OUTPUT €9 HINim/ INPUT
8 87
5
(ot} ;
q
! R
Aol L ______ [ R SR B ke« gl 8
8l e ':":' | ==y Z =
Tt 36
| 82
1
]
4-M12i%22 w 11 4
HiH4@42/Output Diameter
12 MEHE

M16x2P

43

B A DIRERIRZ R, AR FER B E M.
*The input motor specific dimensions could be customised.

*AEEUESEER , BEEEEABTIEN
S RS2 *This drawing is only for reference

I I IS =T B R I A B T

b 145 4-M8x20 < $24
$ 165 [4-M10x25, 4-M12x35] < ¢ 32 81 <l>130 O 142 173 260 195
LSN160-L1{ ¢ 200 4-M12x35 < $42 83 $114.3 8 180 173 260 21.5
¢$ 200 4-M12x35 < $42 115 $114.3 8 180 205 292 53.5
$215 [4-M12x35, 4-M14x35 < ¢ 42 83 ¢$ 180 8 190 173 260 21.5
$ 145 4-M8x20 < 924 81 $110 10 142 243 330 19.5
$ 165 [4-M10x25, 4-M12x35| < $32 81 $ 130 10 142 243 330 19.5
LSN160-L2[ ¢ 200 4-M12x35 < ¢42 83 $114.3 8 180 243 330 21.5
$ 200 4-M12x35 < 42 115 $114.3 8 180 275 362 53.5
$215 [4-M12x35, 4-M14x35 < $42 83 $ 180 8 190 243 330 21.5

* Cl~C1ORAHIREDIRERIR R AIRIEE P E R EIREM.

* C1~C10are motor (metric standard) specific dimensions, which could be customised.

@il = L




TR

BYS15iB / MODEL ILLUMINATE

R E : st : i :
- LSR060. LSR090 ! 0 LSt EBkE 0 | DisES: !
| LSR120, LSR160 | ! BT H ! L DhERES :
e P wm :
D omEg:3. 4.5 7,10 oo BEmEE : PO .
' ez :12. 15, 20, 25, 30, 35, 40, 50, 70, 100 i | e PL :
| oo IR < P2 ;
IT5BIS%E : LSR060-10-S2-P2/#A FMSME-042GIU
8 : LSR060-10-S2-P2/¢p14*30/¢950*3/4-p4.5-¢70
O FILLIN DATA OF MOTOR EFIEEEH
— (4-90°)aF
0
<
§
EUvN B
Motor - E
el }IH%:I N -8
otor Label:
LARLS L.
Motor Model: ]
D
c OH
> & SPECIFICATIONS
Motor Flange Motor Flange P.C.D Bore Motor  Actual Length
Shaft oy shaft |99 of = Flange of Backlash
Dia. d Length €9 Bore a. Square  Motor Shaft
DRMIME DAMEIME DikKE DANGSE BarlfOiE B4 ER DRERY DkEESK BRER
@A(h6)  @B(h7) C D oE oF OH L PO/P1/P2

Y v Bl sd tdét G E “u

TEEEEZEF] / GEAR BOX PERFORMANCE INFORMATION

#1#& Specifications LI bk Ratio
3

32.6 95.2 283 482
4 30.1 74.6 249 490
1 5 32.3 95.2 283 473
7 30.9 85.6 219 400
10 25.0 75.0 210 320
12 32.6 95.2 283 482
. 15 32.6 95.2 283 482
ﬁjﬁ‘.’tmﬂj FI%ET2N N.m 20 30.1 74.6 249 490
Nominal Output Torque
25 32.3 95.2 283 473
5 30 82218 95.2 283 473
35 32.3 95.2 283 473
40 8228 95.2 283 473
50 32.3 95.2 283 473
70 30.9 85.0 219 400
100 25.0 75.0 210 320
2= 1R ET2NOT N.m 1. 2 3100 BfEEE A H F15E
Emergency Stop Torque : N (3.0 times of Nominal Output Torque)
ﬁﬁiiﬁ)\%ﬁgm rpom 1. 2 3~100 3000 3000 2500 2000
Nominal Input Speed
B RHINFTIEN 1 max rpm 1, 2 3~100 6000 6000 5000 4000
Max.Input Speed
BIEZE PO ) 1 3~10 — _ =3 =3
Ultraprecise Blacklash aremin 2 12 ~100 — — <5 <5
152 BEPA I 1 =10 = <6 <5 =5
Precise Blacklash 2 12 ~100 — <9 =7 =7
FRETE P2 ) 1 3~10 =12 <9 <7 <7
Standard Blacklash aremin 2 12 ~100 =15 =12 =9 =9
;‘tﬂ%m'&. . N.m_ i1 2 3~ 100 2.6 7.5 1548 30
Torsional Rigidity /arcmin
FiFEmAF2rB
Max.Radial Load N 1.2 3~100 889 1630 3380 6450
""KﬂlﬂFm 21 71 F2aB N 1.2 3~100 850 1420 2930 5510
ax.Axial Load
Eﬁﬁiﬂx °Cc 1.2 3~100 -10° C~+90° C
Operating Temp
fERFFan hr 1.2 3100 20,000
Service Life N (10,000/3% £E iz F£ continiu operationg)
ME % 1 3~10 =96%
Efficiency 2 12 ~100 =92%
=8 e 1 3~10 1.3 3.0 7.3 15.6
Weight 2 12 ~100 2.0 5.0 11.5 20.7
LT E EEAME
mounting Position B 1.2 3~100 Any direction
u_;,:g.'—ﬁ dBA/1m 1. 2 3~100 60 65 65 70
Noise Level
B & R
Protectio%r: Class B 2 8~100 Ip65
i L 5100 & & AL B A
Lubrication N Synthetic Lubricant
RN AR E
L L Ratio
3 0.25 0.81 2.2 7.89
4 0.18 0.65 1.8 5.83
1 5 0.16 0.62 1.61 5.83
7 0.14 0.60 1.55 5.22
10 0.14 0.60 1.53 5.20
12 0.16 0.62 1.61 5.83
- — 15 0.16 0.62 1.61 5.83
%ﬂﬁi‘“ kg.cm? 20 0.16 0.62 1.61 5.83
25 0.16 0.62 1.61 5.83
> 30 0.14 0.60 1.55 5.22
35 0.14 0.60 1.55 5.22
40 0.14 0.60 1.55 5.22
50 0.14 0.60 1.55 5.22
70 0.14 0.60 1.53 5.20
100 0.14 0.60 1.53 5.20




TR

SMiZR~TEZ / OUTLINE DIMENSION SHEET SMEZR~TEZ / OUTLINE DIMENSION SHEET
LSR060-L1 LSR090-L1
HHim/OUTPUT i N/ INPUT i Him/OUTPUT IR/ INPUT
9 9
8 35 8 40
8 3 ocr 090 10 3 0c?
110, 1 0120 €10, 1
: = o : =
& ! 2 2.5 & § ! 58 | 4 &
A —— A =
4| -Fit----- - | EENELEy R 4| it --t-1f---e1ml- ¢
T 125 . T [16.5 .
'g\a : 31 & G : 36 &
1 — 1 —
o [ ] o [
c4 c4
LSR090-L2
LSR060-L2
HiHim/OUTPUT i N\im/ INPUT
i Him/OUTPUT AR/ INPUT @
o 8 40
10 3 ocr
8 35 lclo. I
o 3 3 ocr
<~ 1 . : T
. — 9 1 28 4 o
v ! s | s 6. 1 —
S — Aol -Fri-----h e R B
Aol -Fi------ e —-p-p---exzIg- g T 1] o
i T [12.5] . & ! 36 &
5, | 31 & 1 —
i | o [0
o [ 4
c4

HitH#H12/Output Diameter

M61P WEFE

nEsM m B TMADKERRZ R, RSP ER BB EN.
5 ) ) *The input motor specific dimensions could be customised.
0.5 FEEUFSSER , SEERORS RN
B 3 BHS1 RS2 *This drawing is only for reference
CIMANDIRERIRZ R, AIiRIEE PRI EM.

*The input motor specific dimensions could be customised.

22.5

| * A % P S e Nty [
res) IS e ot A A R+ c c2 c3 c4 cs c6 c7 cs8 co c10
070 | 4-M4x12,4-M5x12 | <14 | 46 $50 4 90 100 140 6
©75 | A Max124-M5x12 | <¢14 | 46 60 55 90 100 1 6
L SR000_L1 290 | 4-M5x15.4-Mex15 | <10 | 46 70 7 90 100 140 7
100 4-M6x15 <419 | 46 80 7 90 100 1 7
046 M0 — m 530 5 m o o 5 145 4—MBx20 <024 | 615 | 0110 10 130 100 1 125
LSR060-L1| $66.7 4_M4x10 <48 34 $38.1 5 60 81 116 8 070 | 4-Max124-M5x12 | <14 | 46 50 4 90 19 159 6
$70 | 4-Max104-M5x12 | <14 | 34 50 5 60 81 116 9 i B s d e n s AP SO R | e 60 2 =0 ik ! 2
446 4-M4x10 <48 | a4 30 5 60 | 1375 | 1725 0 LSRo90-Lo|—2 20| 4-Mox15.4 Mex15 | =019 | 46 070 ! 2 9 159 !
LSR060-L2| $66.7 4-Mdx10 <08 34 $38.1 5 60 1375 | 1725 8 $100 4-M6xi5 So19 | 46 80 i 90 119 ! 4
$70 | 4-Max104-M5x12 | <14 | 34 50 5 60 1375 | 1725 9 o115 4-M8x20 Sb24 | 615 95 10 100 AL 159 125
145 4-M8x20 <024 | 615 | 9110 10 130 119 1 125
* C1~C10 BAHIMNEDIRERE R R, TR S P Esk b, * C1~C10 ENGIREDISEERC R, AIiRIEE A EREMEM.
* C1~C10are motor (metric standard) specific dimensions, which could be customised, * C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y i B O w



a LOZ INTELLIGENT TRANSMISSION 71?5%%

SMiZRTEZ / OUTLINE DIMENSION SHEET

LSR120-L1

HHim/OUTPUT i N\im/ INPUT
9
8 55 oc?
15 4
€10 1
3 B ¢
& i 0 15
S ——
T ] =
Aol -fi------ oo R e
] = o
T 22 &
| 50
&, I
1 -
c6 |
c4
LSR120-L2
HHiz/OUTPUT @ i N\im/ INPUT
8 55
oc?
0120 lcl0 15 ‘i
0168
0130 3 ] =,
g ' ! w |5 "
| B ——
He __.i.' ______ N N IOy | O 3 &t IS
Sl 1 T : s
T 22 &
I 50 »
&, I
1 -
o [[
c4

NEGHE

CRE=EC

ENDIRERERZ R, TARER R EREMEMY.

*The input motor specific dimensions could be customised.

REMUFSEER | BRIEMEASTERN

BEfEE)

MiZRTEZ / OUTLINE DIMENSION SHEET

i /OUTPUT o HINif/ INPUT
C8 87
Ic10. = 52 ocr
; —
& | 65 | 8 G
|
S| -Frr------ ol Bl e ———q———-- 8
1 __ =)
: 36
=, | 82 &
oY [l ,
1 |
o [
C4
LSR160-L2
HER/OUTPUT - HINi/ INPUT
C8 87
0160 El(l 15 52 ac7
; —
| 65| 8 G
|
e T ol Bl R et A ey R
1 =2
T 36
| 82 &
1 N
1 |
o [
C4
12 MESE

M16%2P

43

@ B CBADBEFRZ R, TREEFERBIBEMN.
*The input motor specific dimensions could be customised.

CRERUESEFER , EREETEARBITEM
BIS1 BIS2 *This drawing is only for reference

B BT I T BT I B B N O T

ABHS1 RS2 *This drawing is only for reference
R~F C1 Cc2 C3 C4 C5 C6 Cc7 Cc8 Cc9 Cc10
$ 90 4-M5x15,4-M6x15 <$19 48.5 & 70 7 115 153 208 7
$ 100 4-M6x15 <¢19 48.5 $ 80 7 115 153 2 7
LSR120-L1 115 4-M8x20 < ¢24 58 $ 95 10 115 153 208 11.5
b 145 4-M8x20 < $24 59 $ 110 10 130 153 2 12.5
$ 145 4-M8x20 < $24 68 $ 110 10 130 162 217 21.5
$ 90 4-M5x15,4-M6x15 < $19 48.5 & 70 7 115 180 2 7
$ 100 4-M6x15 <¢19 48.5 $ 80 7 115 180 235 7
LSR120-L2 $115 4-M8x20 < $24 58 $ 95 10 115 180 235 11.5
b 145 4-M8x20 < $24 59 $ 110 10 130 180 235 12.5
$ 145 4-M8x20 < $24 68 $ 110 10 130 189 244 21.5

* Cl~C10 RRHREDIRERE R R, AIRIES P 2R HE M.

¢ 145 4-M8x20 < $24
G165 |4-M10x25 - 4-M12x35| < ¢ 32 d) 130 O 142 173 260 19 5
LSR160-L1| ¢200 4-M12x35 = ¢ 42 83 $114.3 8 180 173 260 21.5
$ 200 4-M12x35 < ¢42 115 $114.3 8 180 205 292 53.5
$215 |4-M12x35, 4-M14x35| < 42 83 ¢$ 180 8 190 173 260 21.5
¢ 145 4-M8x20 < $24 81 ¢ 110 10 142 243 330 19:5
$ 165 |4-M10x25, 4-M12x35| < ¢ 32 81 ¢ 130 10 142 243 330 19.5
LSR160-L2| ¢200 4-M12x35 < ¢42 83 $114.3 8 180 243 330 21.5
$ 200 4-M12x35 < $42 115 $114.3 8 180 275 362 53.5
$215 |4-M12x35,4-M14x35| < ¢p42 83 ¢ 180 8 190 243 330 21.5
* C1~C10 BAHIWREDIAERRC R AR RS PR IREM.

* C1~C10are motor (metric standard) specific dimensions, which could be customised,

Y (Bl

* C1~C10are motor (metric standard) specific dimensions, which could be customised,

------------------------------------------------------------------------------------------------------- o



LOZ INTELLIGENT TRANSMISSION

TEMENDIERFEIRIPI / PLANETARY GEARBOX WITH MOTOR MOUNTING INSTRUCTIONS

For General Type

1 2
. BEEIR LN ELMT, %
\SERRIAES DA, EHUEHE
BEW, HEDASHE v
NEEEELTE, -
Take off the plug from the
Chectl: the.mothJr andh bracket. Revolve the set
gearbox 5|ze.fC ean the collar until the bolt is
mounting surface. aligned with the hole.
WBIASEMORT, HOKDiE
3 BELHE, 4
Make sure the motor shaft size.
Choose the right bushing if necessary.
LHEAATHR, WEHERXSE
) EFmhOg, EHEARELS
MT3ALR%RE, W FHESEE,
BB, BREFER, As installing on flatted shaft, be
Remove the key from the sure to align the collet gap over
motor shaft. Mounting the the flat and the set collar bolt
balance key if necessary. perpendicular to the flat.
5 6
, y BORSHENETES, S
SR EDREUEDE SRRV ZENE, L
5%, KIB1E4IER, % IEFED
) DiAHIRRLHIR
IBLRRHE, =
Tighten the mounting bolts Install gearbox and motor
in 1~4 order with torque vertically. Tighten the set
wrench to 5% specified collar bolt with torque
torque. wrench to specified toeque.
7 8
UBIRHDRENZ

HHE, KR1ZE4E

F, BENREFEE
ﬁiﬁgo

Tighten the mounting bolts
in 1~4 order with torque

wrench to specified
torque.

BN ELIRm
Put the plug back.

WEHHFE / Tightening Torque Table

12 R ERRE SR

ANALRS| BESSIBLZHIRHN RE10.0E4 Y HiRH N | BE12.0184 2 HiEHN

Six hexagon
e e| head size

Strength of 8.8
screw locking torque

Strength of 10.9
screw locking torque

Strength of 12.9
screw locking torque

(mm) (N.m) (In—Ids) (N.m) (In-Ids) (N.m) (In—Ids)
M3*0.5P 2.5 1.3 12 1.8 16 2.1 19
M4*0.7P 3 3 27 4.1 37 4.9 44
M5*0.8P 4 6.1 55 8.2 73 9.8 87
M6*1.0P 5 11 98 14 124 17 151
M8*1.25P 6 25 222 34 302 41 364
M10*1.25P 8 49 434 67 594 80 709
M12*1.75P 10 85 753 116 1028 139 1232
M14*2.0P 12 137 1214 186 1648 223 1976
M16*2.0P 14 210 1860 286 2534 343 3038
Ok | B2RT | ARt 1
. - The motor ik g Six hexagon Ti iﬁtl%iﬂtj]
:)ﬂ]i*}lﬁ!-q shafe diameter Screw size head size Ightening torque
Reducer type
(mm) (mm)
<14 M5*0.8P 4 9.8 87
LHFO60 <19 M6*1.0P 5 17 151
<19 M6*1.0P 5 17 151
LHF090 <24 M8*1.25P 6 25 222
<19 M6*1.0P 5 17 151
LHF1TS <35 M8*1.25P 6 25 222
LHF142 <35 M8*1.25P 6 25 222
LHF180 <55 M10*1.5P 8 85 753
LHF220 <55 M10*1.5P 8 85 753
Reducer typ (mm) (mm) (mm) (N.m) (In—Ids)
<14 M5*0.8P 4 9.8 87
LSFO60 <19 M6*1.0P 5 17 151
<19 M6*1.0P 5 17 151
LSFO90 <24 M8*1.25P 6 25 222
<19 M6*1.0P 5 17 151
LSF115 <35 M8*1.25P 6 25 222
Oikih2 | B2R~T | xR~ o
s | Themotor & Six hexagon o ﬁﬁtl%*ﬂtj]
,)ﬁﬁ*}lg‘.!-q shafe diameter Screw size head size Ightening torque
Reducer type
(mm)
LGY064 <14 M4<0.7P B 4.9 44
<14 M4*0.7P 3 4.9 44
LGY090 <24 M6*1.0P 5 17 151
LGY110 <24 M8*1.25P 6 25 222
LGY140 <35 M8*1.25P 6 441 360
LGY200 <42 M10*1.5P 8 85 753
LGY255 =55 M10*1.5P 8 85 753

Y e a @ @ ] (@@ - o




g LOZ INTELLIGENT TRANSMISSION

= = d e g torque
e dia e e ead e
et L (mm) (mm) (mm) (N.m) (In-Ids)
LSNO60 <14 M4*0.7P 3 4.9 44
LSNO090 <24 M6*1.0P 5 17 151
LSN120 <32 M8*1.25P 6 41 360
LSN160 <38 M8*1.25P 6 41 360
i \ == y
e mo & exago
= = d e J torque
e dia e a ead o
aeEmariupe (mm) (mm) (mm) (N.m) (In-Ids)
<14 M570.8P 4 9.8 87
LHFZ060 <19 M6"1.0P 5 17 151
<19 M6"1.0P 5 17 151
LHFZ090 <24 M8*1.25P 6 25 222
<19 M6*1.0P 5 17 151
LHFZ115 <35 M8*1.25P 6 25 222
LHFZ142 <35 M8*1.25P 6 25 222
LHFZ180 <55 M10"1.5P 8 85 753
LHFZ220 <55 M10"1.5P 8 85 753
H : zZ .
e mo P exago
= = d e J torque
e dia e a ead o
GBI (mm) (mm) (mm) (N.m) (In-Ids)
<14 M570.8P 4 9.8 87
LSFZ060 <19 M6"1.0P 5 17 151
<19 M6"1.0P 5 17 151
LSFZ090 <24 M8*1.25P 6 25 222
<19 M61.0P 5 17 151
LSFZ115 <35 M8*1.25P 6 25 222
i : = .
e 0 S ago
= = d e J torque
e dia e a ead o
B (mm) (mm) (mm) (N.m) (In-Ids)
LGYZ064 <14 M4+0.7P 3 4.9 44
<14 M4*0.7P 3 4.9 44
LGYZ090 <24 M6*1.0P 5 17 151
LGYZ110 <24 M8*1.25P 6 25 222
LGYZ140 <35 M8*1.25P 6 4 360
LGYZ200 <42 M10*1.5P 8 85 753
LGYZ255 <55 M10°1.5P 8 85 753
H 1f 2 ) zz E ..
e o) S exago
= = | e gJ torque
e dia e & ead e
seissrls (mm) (mm) (mm) (N.m) (In-Ids)
LSR060 <14 M4+0.7P 3 4.9 44
LSR090 <24 M6-1.0P 5 17 151
LSR120 <32 M8*1.25P 6 4 360
LSR160 <38 M8*1.25P 6 4 360

b7 —-HS-1I ' LZ-HS-1V

L il
.o
™ T =+




LZ-CS-I B3R iR 88 LZ-HS-I BYis i s 28

LZ-CS-1 BRI NMTIARERLEH |, BN LZ-HS-1 RYIFREAPE=BDFARER LS |,
HMEZRSKRERNAES  BIFREIRZE BIENRE  MANMERSKRKERANFES |
&, —BRRANRREE  FRionBHIEEL N BT FiRER. BaRBRCIKERE  RECimEH

£/, ROEZTSVER | BRRARLIKERE |, W%

HENEZEAFER.

NM NM NM NM RPM RPM Arc Sec | Hours NM NM NM NM RPM RPM Arc Sec | Hours

50 5.4 18 6.9 35 <30 |>10000 50 5.4 18 6.9 35 <30 |>10000

14 80 7.8 23 11 47 | 7500 | 3500 | =30 |>10000 14 80 7.8 23 1 47 | 7500 | 3500 | <30 |>10000
100 | 7.8 28 11 54 <30 | >10000 100 | 7.8 28 1 54 <30 | >10000

50 16 34 26 70 <30 |>10000 50 16 34 26 70 <30 |>10000

17 80 22 43 27 87 | 7000 | 3500 | <30 |>10000 17 80 22 43 27 87 | 7000 | 3500 | <30 |>10000
100 24 54 39 110 <30 | >10000 100 24 54 39 110 <30 | >10000

50 25 56 34 98 <30 | >10000 50 25 56 34 98 <30 | >10000

80 34 74 47 127 <30 |>10000 80 34 74 47 127 <30 |>10000

20 100 40 82 49 147 | 6000 | 3500 557 70000 20 100 40 82 49 147 | 8000 | 3500 50T 40000
120 40 87 49 147 <30 |>10000 120 40 87 49 147 <30 |>10000

50 39 98 55 186 <30 |>10000 50 39 98 55 186 <30 |>10000

80 63 137 87 355 <30 | >10000 80 63 137 87 355 <30 |>10000

25 100 67 157 | 108 | 284 | °°00 | 3500 53— 70000 25 100 67 157 | 108 | 284 | °°00 | 3500 53— 70000
120 67 167 | 108 | 304 <30 |>10000 120 67 167 | 108 | 304 <30 |>10000

50 76 216 | 108 | 382 <30 | >10000 50 76 216 | 108 | 382 <30 |>10000

80 118 | 304 | 167 | 568 <30 | >10000 80 118 | 304 | 167 | 568 <30 | >10000

32 100 | 137 | 333 | 216 | 647 | 2000 | 3500 =5 710000 32 100 | 137 | 333 | 216 | 647 | 2000 | 3900 =TS 10000
120 | 137 | 353 | 216 | 686 <30 |>10000 120 | 137 | 353 | 216 | 686 <30 | >10000

1. I FEMRANE S SIS R ERSE RIS %K~ LZ-CS-BIE (f5lan-14 ) - EEL ( 5Ian-50 ) &A= 1. RS E R S R RREE B E R LZ-HS - BUE ( flan-14 ) - gLy ( 51490-50) -i&
(BI0-1) , BI4ILZ-CS-14-50-1. $75=t (fIg-1) , 40 LZ-HS-14-50-1.

2. EZES BHE ) BYTREUIRALIER, 2. EEL AEE ) BYTRIER.



LZ-HS-III BYiRe s 28 LZ-HS-IV BYig iR iR 28

LZ-HS-1V B ZF R AP =L ANERS
1, RRERMEETEHANM , BEREAERITE
SEHR , @BHEN , 2EEE  EREESTS

LZ-HS-1II B ZF TR AP =IO ANERLS
1, RERESEMEPEHEAORPTIHMIL , HiEES
RERRITASIRMR , 2B5EN |, TE&E, 3F

BEaSTENBRESEPOSFELANTSFER. BEMNRTEPER RSB ERFSFEA.

NM NM NM NM RPM RPM Arc Sec | Hours NM NM NM NM RPM RPM Arc Sec | Hours

50 5.4 18 6.9 35 <30 |>10000 50 5.4 18 6.9 35 <30 |>10000

14 80 7.8 23 11 47 | 7500 | 3500 | =30 |>10000 14 80 7.8 23 11 47 | 7500 | 3500 | =30 |>10000
100 | 7.8 28 11 54 <30 | >10000 100 | 7.8 28 1 54 <30 | >10000

50 16 34 26 70 <30 |>10000 50 16 34 26 70 <30 |>10000

17 80 22 43 27 87 | 7000 | 3500 | <30 |>10000 17 80 22 43 27 87 | 7000 | 3500 | <30 |>10000
100 24 54 39 110 <30 | >10000 100 24 54 39 110 <30 |>10000

50 25 56 34 98 <30 | >10000 50 25 56 34 98 <30 |>10000

80 34 74 47 127 <30 |>10000 80 34 74 47 127 <30 |>10000

20 100 40 82 49 147 | 6000 | 3500 55170000 20 100 40 82 49 147 | 8000 | 3500 50T 40000
120 40 87 49 147 <30 |>10000 120 40 87 49 147 <30 | >10000

50 39 98 55 186 <30 |>10000 50 39 98 55 186 <30 |>10000

80 63 137 87 355 <30 | >10000 80 63 137 87 355 <30 |>10000

25 100 67 157 | 108 | 284 | °°00 | 3500 55— 70000 25 100 67 157 | 108 | 284 | 2200 | 3500 55— 70000
120 67 167 | 108 | 304 <30 |>10000 120 67 167 | 108 | 304 <30 | >10000

50 76 216 | 108 | 382 <30 |>10000 50 76 216 | 108 | 382 <30 |>10000

80 118 | 304 | 167 | 568 <30 | >10000 80 118 | 304 | 167 | 568 <30 |>10000

32 100 | 137 | 333 | 216 | 647 | 2000 | 3500 =5~ 410000 32 100 | 137 | 333 | 216 | 647 | 2000 | 3500 5T 40000
120 | 137 | 353 | 216 | 686 <30 |>10000 120 | 137 | 353 | 216 | 686 <30 |>10000

1. BRSO E S SRS R ESE R E R LZ-HS - 1S (Fa0-14) - EiEEE (F1an-50) & 1. R PO AR E R SRR RS SR~ LZ-HS - 1S (Fa0-14 ) - @iEEy ( #190-50) -i&
A (Fa0-3) , Fig0 LZ-HS-14-50-I11, A (Ha0-4) , g0 LZ-HS-14-50-1V,

2.EEAIC BEE ) RRESROEPHEAORZP=HAL. 2. &EZEL BEE ) RRESROEETHANM.



LZ-CD-I BY{iR R R E8 LZ-HD-I BY{E57 1R 28

LZ-HD-1 B RS/ B Pty , B
MEREZE , BANHMERSKERESRRRS 8
I FaiRez s, B RANIRIREE , Ritih
WHANEESIVER | WA RBREKEE , K
i HAERZ TS TUE R,

LZ-CD-1 R RS R AR RSN EHE
EEREERNIERS  BEFESRLERE —
AR NI IREIE [, SRECinim HAERTTUER,

NM NM NM NM RPM RPM | ArcSec | Hours NM NM NM NM RPM RPM | ArcSec | Hours

50 3.6 11.5 4.7 23 <30 |>10000 50 3.6 11.5 4.7 23 <30 |>10000

14 80 5.2 15 6.2 30 8000 3500 <30 |>10000 14 80 5.2 15 6.2 30 8000 3500 <30 |>10000
100 5.4 18 7.7 35 <30 |>10000 100 5.4 18 7.7 35 <30 |>10000

50 11 23 18 48 <30 |[>10000 50 11 23 18 48 <30 |>10000

17 80 14 29 21 54 7000 3500 <30 |>10000 17 80 14 29 21 54 7000 3500 <30 |>10000
100 16 37 27 70 <30 |[>10000 100 16 37 27 70 <30 |>10000

50 17 38 24 68 <30 |>10000 50 17 38 24 68 <30 |>10000

20 80 23 50 29 79 6000 3500 <30 |>10000 20 80 23 50 29 79 6000 3500 <30 |>10000
100 28 57 34 95 <30 |[>10000 100 28 57 34 95 <30 |>10000

50 26 66 36 121 <30 |>10000 50 26 66 36 121 <30 |>10000

80 42 91 62 157 <30 |>10000 80 42 91 62 157 <30 |[>10000

A2 100 47 108 72 175 s Sl <30 |>10000 e 100 47 108 72 175 20 Sl <30 |>10000
120 47 111 72 187 <30 |>10000 120 47 111 72 187 <30 |>10000

50 50 145 70 256 <30 |[>10000 50 50 145 70 256 <30 |>10000

80 80 203 126 350 <30 |>10000 80 80 203 126 350 <30 |>10000

32 100 91 220 145 400 4500 3500 <30 |>10000 32 100 91 220 145 400 4500 3500 <30 |>10000
120 92 235 145 425 <30 |>10000 120 92 235 145 425 <30 |>10000

1. WiEMFAE B SIS RRIESERI SR~ LZ-CD - 815 (Han-14 ) - JEELL (5170-50 ) &A=, 1. FPT WO E SRS RRERRESXR R~ LZ-HD -85 (la0-14) - @ikt ( $Ia0-50 ) -&E#EE
(flan-4) , g0 LZ-CD-14-50-1, = (Fa0-1) |, a0 LZ-HD-14-50-1,

2. &EFEL AHE ) BYTFREEIRZIER. 2. & EHI ANE ) BUBRLIER,



L
e i}
- l‘ '_n.
o
™
(#REL) (#LWEE)

HARMONIC DRIVE TERMINOLOGY
IERIGTNARIE »»»
SHEHE , RN,

LN SEIE 920001/ minBS AT 56 ¥4 I AOTESL B SE.

RIERANEERIEERAMIT EHRETIYE | ZAHTFHEFTBIRERE.

ERERHEE. EEENNREEELS  FENTERERIRE MNP LN R K IHE.

EIERET  SBMAHMBERSREEER | BHmEdEs ChGEE.

B Hn S RERSEFTAERE |, TR NIRIENN + 2 %8N 5 B IRAT £t FNE AT £ 75 M bELAT | IRERES AN
R ER— MBI,

ETIERST  SMANBRNEER |, BHMLirEaSEIeAZE.

HERAEEIEF92000r/mink] , BWIHEEAEELREBER T | BERED,

HESREIEERIIET | IRFTERYTEREE  ERERRERROBERT  RESNEENKES
RE—ERD  XMIMSARARRMN, LESAIEBIRARRITEERE, NARERTEEES HIRE & RN R
BRRTS , BRMEARER  REERERSRSRERY , SEREBIR.

B)

2 F S REfE s R B R E]

LONGZE INTELLIGENT TRANSMISSION TECHNOLOGY (SHENZHEN) CO., LTD



	页 3
	页 6
	页 7
	页 9
	页 10
	页 12
	页 13
	页 14
	页 15
	页 17
	页 18
	页 20
	页 21
	页 22
	页 23
	页 25
	页 26
	页 27
	页 28
	页 30
	页 31
	页 32
	页 33
	页 35
	页 36
	页 38
	页 39
	页 40
	页 41



